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Question Number : 1 Question Id : 8135612881 Display Question Number : Yes Is Question
Mandatory : No

In algae. vegetative reproduction mainly takes place by

330" THATSQ o 20H6

Options :
Fragmentation

| o DG ,0MHE

Heterocyst
S VIS

Akinetes
. D8ES

Budding
Q0 S

Question Number : 2 Question Id : 8135612882 Display Question Number : Yes Is Question
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Assertion (A): Bryophytes are the amphibians of plant kingdom
Reason (R): They are found in swamps and areas. where water and land meet

Do (A): LAFDERD 38 T2 GHOHETL Botred
560 (R): 2 Ddd d0g°. A 2odatn J0 DD HETH' I I ot

Options:

Both A and R are correct and R 1s the correct explanation for A

. o A 208050 R e Bocr ©03D 2080k R 038 A & 035 D1

Both A and R are correct and R is not correct explanation for A

, % A 0Bain R a0 Gotr 2R 570 R 0938 A § 203 o6 57

A 1s correct but R 1s wrong
2 A J0AA 57 R Dd5~CD

A 1s wrong but R is correct
4% A D050 57 R 2028

Question Number : 3 Question Id : 8135612883 Display Question Number : Yes Is Question
Mandatory : No
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Angrospermic plants are characterized by
(1) double fertilization
(11) triploid endosperm
(111) diploid endosperm

Choose the correct option from the following regarding above statements”?

8 D2 g L VLT
(1) Budsono
(11) Q@E@S @Oﬁ)dtﬁhﬁn
(111) 65053285 wo&déadu
9,8 D2 308, VL VotoBol) AFR TS (BoSec.?

Options :
(ii) & (iii) are correct
o () & (i) 0BgBD

(i) & (ii) are correct
, o @ & (ii) 28D

(i) & (iii) are correct
o x (1) & (iii) 28g0HD

(i), (ii) & (iii) are correct

4w (1), (i) & (iii) 20O

Question Number : 4 Question Id : 8135612884 Display Question Number : Yes Is Question
Mandatory : No
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The diagram represents the lifecycle of

angiosperni. Choose the correct combination
of labelling?

B Do 8 898 D2 B Ko
3dahiasnr. $08 TR’ DB
errioR Mdousod?

Options:

(a) - Anther.  (b) - Stigma. (c) - Egg. D — Male gametophyte,
i (a) - DorE'30. (b) — erdo. (c) - 53 Dargeso. D — )R Dodiridace. E — eoto

: A

(a) — Ovule. (b) — Stigma. (c) — Male gametophyte. D — Anther.

E-Ege

E - Ovule

, 4 (@) —woco. (b) - Serfio. (c) - Aok RoairAidao. D~ 0oiE 0. E - 3 Daseo

(a) — Male gametophyte.  (b) — Stigma, (c) — Anther, D-Egg.

3

(a) - Stigma. (b) — Anther.  (c) — Male gametophiyte. D - Egag.

E - Ovule
. (a) — QA Pootrrdade. (b) - Serdo. (c) - Doii€'s0. D - :’?, Daéeo. E—®oto

E - Ovule

- (a) - $erdo. (b) —H0E 3o, () — YA Dodiridado. D - N Haseo. E - oo

Question Number : 5 Question Id : 8135612885 Display Question Number : Yes Is Question

Mandatory : No
AP EAPCET 2021
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Match the following Columns?

Column - I Column - 11
(a) Father of Taxonomy (1) Hooker
(b) Father of Zoology (1) Carolus Linnaeus
(¢c) Father of Medicine (11) Anstotle
(d) Father of Biology (rv) Huxley
(e) Concept of Genus (v) Hippocrates
(f) Father of Neotaxonomy (vi) Emest Mayr
(2) Darwin of 20 century (vii) Julian Huxley

308 SV 2 BoDod?

D0 - 1 S0 - 11
(a) agsoewg o (1) Ssd
(b) 2080TR DS (i) 8L BJ)aHA
(¢) Bamro HI (iii) esag'ﬁei
(d) 27 DS (iv) r8&®
(2) DS VAP (v) a>d\365y
(f) Sradd agsw R S (Vi) 20)Q Dobd
(2) 20 S 30 T-OD (vii) 2rdabrd r5\®

Options:
1% (a—ii),(b—iii),(c—vwvi),(d—wvii),(e—iv),(f—i),(g—vVv)

, o (a—it),(b—iii),Ce=w),(d— ), (e—1),(f—iv), (g—vi)
5 % (a—ii),(b—iii),(c—iii),(d—v),(e—iv),(f—i),(g—vi)

4w (a—ii),(b—iii),(c—iv),(d—vii),(e—vi),(f—i),(g—v)
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Question Number : 6 Question Id : 8135612886 Display Question Number : Yes Is Question
Mandatory : No

In Alstonia the type of Phyllotaxy 1s

55 Do & DS DT BSo

Options :
Alternate

Whorled
), v BSOD

Opposite

3 % 29200
Simple

4 % ROT

Question Number : 7 Question Id : 8135612887 Display Question Number : Yes Is Question

Mandatory : No
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Match the following types of placentation with respective plants?

Column-I Column-II
(a) Marginal (1) Argemone
(b) Axial (1) Dianthus
(¢c) Panetal (1) Pea
(d) Free central (1v) Tomato
(v) Marigold

B FND BoET(R B5TVR T8 AL DI 2BDGWeE.?

S8R - 1 S8 - 11
(a) &rod (i) &8-S
(b) 09505 (11) Gairode
(c) S (iti) &T*R
(d) NEeySod (iv) &5°are’
(V) Qo

Options :
. % (a—ii),(b—i),(c—iv),(d—v)

, o a—iil),(b—iv),(c—1),(d—ii)
3 % (a—v),(b—iii),(c—ii),(d—i)
4 % (a—i),(b—ii),(c—iii),(d—v)

Question Number : 8 Question Id : 8135612888 Display Question Number : Yes Is Question
Mandatory : No
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Identify A. B and C in the given diagram of the
regions of root tip?

AS 'aq)a S 53 Aoceree’ A, B. C v
ﬁ}goﬁod?

Options :

A — Region of maturation. B — Region of elongation. C — Region of meristematic activity

. o A-20B03 Fodo. BT d0A Foso, -5 abh Fodo

A —Region of elongation. B — Region of maturation. C — Region of meristematic activity
, % A-TEP A Fodo, B-20869 Fodo. € - Dgad 260 Fodo

A — Region of menstematic activity, B — Region of maturation, C — Region of elongation

3 x A- D2 200 Fodo. B - 50082 Srodo. C - Ty 208 Frodo
A - Region of menistematic activity, B — Region of elongation. C — Region of maturation
4w A-Dad 28 Fodo. B— ) 207 Fodo. € — 30808 Fodo

Question Number : 9 Question Id : 8135612889 Display Question Number : Yes Is Question
Mandatory : No

What 1s common between vegetative reproduction and apomixis?

TOATS\3S, ©000Ir (2000 Bod.othd F TP ©o%o?

Options :

1.8
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Both occur round the year
Cot>® NoDB\G0T™ A

Both produce progeny identical to the parent
5 o Ooc.otdes 0 Worrdo 9 J"Doivocosd

Both are applicable to only dicot plants
, 00G> BLE¥DR 20G) VL) HBotA

Both bypass the flowering plant

i Botir 2Paxyotd DE) L HB 2-do

Question Number : 10 Question Id : 8135612890 Display Question Number : Yes Is Question
Mandatory : No

Chose the incorrect statement of Gamete transfer?

Bridd DB D) TE(RS’ Vodir Derw 6T Votsodol) FBELHA 5 TE(o?

Options:
Male & female gametes brought together for fertilization

e D DR Dodird Daren DuBSon S6% SH6SH 360

The number of male gametes produced are larger than female gametes
L =2 Rodird Daren Lo Soff HE VoI Dare Voay D)

In majority of the organism’s male gametes are non-motile
L o VRO B5y0e5° GO Vo3 K Daren PO e
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Pollen grains are the carriers of male gametes in angiosperms
59,8 D0’ DO BEVL QB PVoCIr LFVL) TS HIBAV

Question Number : 11 Question Id : 8135612891 Display Question Number : Yes Is Question
Mandatory : No

Select the mncorrect statements of Eichhorma

25°8) Al S VotioHod) DBGDIS S°A TS(o

Options:
Invasive weed in standing water
260 DVSETT G0l AR Dol DAMSI® Toid SLY JS),

1. %

It drams oxygen from the water

. QS 812530 FoRoan

It 1s mdigenous to India
R0 TEIRT VS BDodI Q0E),
- B 4

It can propagate vegetatively
L B0 THOD DRSS BEDE B

Question Number : 12 Question Id : 8135612892 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect statement related to outbreeding devices in plants?
Q0GOS EFTHABID COT TV Votodol) PBEVHE S°A JT°Sfo?

Options :

1. 8
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Pollen & stigma receptivity are not synchronized

DT E DB, Serro TPy (EBotL) DAS DGO Gotid

Anther & stigma are placed in different positions

. &horen, Serto DB ?:rves‘ G0t

Self-sterility

5 ue:ﬁé &50655&350

Production of bisexual flowers
. & dois Dar\v &S

Question Number : 13 Question Id : 8135612893 Display Question Number : Yes Is Question

Mandatory : No

A special membranous structure. mainly associated with respiration, secretion process and

replication 13

TOSAD, FISaD, DAGOS’ SE SrEaing SeTorio DK

Options:

Mesosomes

1. ¢ banm

Plasmuds
5";’3&5&

2, % 5

Chromatophores
, o E2ED6

AP EAPCET 2021
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Ribosomes

QESS‘:]G o)

Question Number : 14 Question Id : 8135612894 Display Question Number : Yes Is Question

Mandatory : No

A typical Nucleosome contains DNA wrapped around a core of histones which have

w8 DT ArEaird’o IS T 62 thieh &) DNA A ¢BAcodR. & TS
TehSen

Options:
H,A, H,B, H; & H,

1. =

, » H2A, H,B, H; & H,

. » HiA, H;B, H; & H,

, « HaB, HyC, Hy & H,

Question Number : 15 Question Id : 8135612895 Display Question Number : Yes Is Question

Mandatory : No

The DNA 1n which the base sequence of one strand 1s opposite to that of other strand when

read from opposite direction 1s called

DNA &° w8 T8’ Gol A3R TOV 60X §00 TABRAM™ VP’ AGR TOV
365 £2009%) S{BBEIT Gotadd. H(ETS B3I WAIY®

Options:
Satellite DNA
| x TOTSDNA
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Palindromic DNA
5 v FOJEE DNA

Repetitive DNA
3 x 080D DNA

Non-coding DNA
4 % Scobh 264D DNA

AP EAPCET 2021

Question Number : 16 Question Id : 8135612896 Display Question Number : Yes Is Question

Mandatory : No

Match the following types of plastids with their functions?

Column - I

Column - 11

(a) Leucoplasts

(1) Carbohydrates

(b) Amyloplasts

(1) Proteins

(c) Elaioplasts

(111) Nutrients

(d) Aleuroplasts

(1v) Otls & Fats

B DB),D) 88 BewYo 57w, T8 DOV ¢ BoDod?

Options:

Q0N - 1

20w - 11

(a) ésa Or)eN

(1) »oG "‘.Jcrg'w

(b) a_a)ﬁé“@w

(ii) AroRgydoen

(c) =dciraraw

(i) e DET

(d) wwsEf §°§3w

(1v) Sorden Hdasw § QD

v (a—iii),(b—i),(c—iv),(d—ii)

AP EAPCET 2021
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, x (a—iv),(b—iii),(c—ii),(d—1i)
, % (a—i),(b—ii),(c—iii),(d—iv)

4 % (a—ii),(b—iv),(c—i),(d —iii)

Question Number : 17 Question Id : 8135612897 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect statement of cell cycle?

S BSo AL VotioHow) RBAD T°Sfo S°AR?

Options :

The cell 1s metabolically active
S0 233037 DT A SoirFwdd Sdaivoco

The amount of DNA per cell doubles
- $£2085°Q DNA 08507890 8800

The number of chromosomes remains the same
- Eardow Roa)| Jr6d

The mterphase lasts less than 95% of the duration of cell cycle
X SeadS0e5” odS B5F (DG 95% ST7) B8, S Gocd

Question Number : 18 Question Id : 8135612898 Display Question Number : Yes Is Question
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Assertion (A): The spring wood has a greater number of Xylem vessels with wider lumens

Reason (R): During spring season plant requires large amount of water mineral salts

Ao (A): 008 TDOPS DTV BISISW (1 TE TEL BBS VoS GO
560 (R): 5008 anB0)S’ ) € Iy S HBSFm0S” A, AL VITTLY BS3V6o

Options:
A is correct but R 1s wrong

| x ARBRE 5°~ R 2057

A 1s wrong but R is correct
, x A RBS® 5" R 2028

Both A and R are correct and R is not correct explanation for A

5 % A S0Basw R e Socr RD0AD 57 R 938 A S D0 D568 570

Both A and R are correct and R 1s the correct explanation for A

4 o A 08030 R e Bottr HPDD 0805w R 38 A & 235 D36

Question Number : 19 Question Id : 8135612899 Display Question Number : Yes Is Question

Mandatory : No

Identify the labeled parts 1,2, 3,4 m the below
figure?

808 Ho®'N U 1,2,3,4 Botdodt?

Options :
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| — Ground tissue. 2 — Vascular bundles. 3 — Epidermis. 4 — Hypodermis
| —DoraS Stro0, 2 — TVS® o), 3 - u»:r,sm&o. 4 @Q*‘S‘ad&n

1. %

| — Epidermis. 2 — Hypodermus. 3 — Vascular bundles. 4 — Ground tissue

2
" P= ﬁ“ﬁ“&tﬁﬁén. 2= wc;%‘)déu. I -TES° Yore), 4 —oras Sterwo

| — Vascular bundles. 2 — Epidermis. 3 — Ground tissue. 4 — Hypodermus

15 - y T sl |
- | - r9s° Yoaren. 2 r.r:::g:::d&u. 3 —NoroLS Spreo. 4 vcsaadén

| — Hypodermis, 2 — Epidermis. 3 — Vascular bundles. 4 — Ground tissue

4 % | -0d3\6lo. 2-wrridjo. 3- TPYS® o, 4 — Dolrals Sfrvo

Question Number : 20 Question Id : 8135612900 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): The veins vary in thickness m dicot leaves, with reticular venation

Reason (R): The size of the vascular bundles is dependent on size of the veins

Adydo (A): BUEY e DT FTTC S a'é:oaoe? G200 D 6570 omred’ Gotdd
5600 (R): TU5° Q)00 HOATR0 SAV HBATHR0 G BTEHE G0t

Options :
A 1s correct but R 1s wrong

| % A %038 529 R 2057

A 1s wrong but R 1s correct

, x A RBSE 5°D R X796

Both A and R are correct and R 1s not correct explanation for A
A 20803 R e Sodr 0D 5°0 R 0938 A S 2BD DD 57
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Both A and R are correct and R is the correct explanation for A
4 A 00ain R e Sotr RN <OCIL R 938 A S D0 D506

Question Number : 21 Question Id : 8135612901 Display Question Number : Yes Is Question
Mandatory : No

Select the mismatch pair from the following?

& So& TS” BTN 28 °AH?

Options:
Monocot root — polyarchy

| % SOV D2 D — WDV PO TS0

Monocot stem — Lysigenous cavity

, x DSCG¥ Dz STotio — LADEFS Lo

Dicot leaf — Bulliform cells

BEY D2y Do — edIrE) Serew
3.¢ ”

Dicot stem — Sclerenchymatous pericycle
4 x OOV D2 STetio — (e SmErwOINSG HBSo

Question Number : 22 Question Id : 8135612902 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect statement with reference to ecosystem service 0, release?

82N DGV DotoGod) B3GR DN VIVL otyoBol) VOGIB TN T8fo’

Options:

1.9
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Submerged mesophytes release 0, and enrich dissolved 0,
QPO 06" A0 &) Are g e, Biad v dadie oo MBE" SBAAR)

35 B Dot

Microbes degrade organic compounds both aerobic and anaerobically

" T30 VY, BT TR GO Rrg) APHew DoBod SETOD D) 0 Bty

Plants and Planktons are the lungs of the world
., iy 2
o SHTAD, DHE DITT Voo QIS GRIDBAL VoD

3

A mature leafy tree produces 0, for 100 peoples to mnhale mn a year

2,8 DBCHVS T A8, 28 VodB6 Twod” 100 2o Sjen GHH HVNTIS
" SOV BE2AN DGV B

Question Number : 23 Question Id : 8135612903 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect anatomical adaptation of Xerophytes among the following?

DG~ 208V Wodd) U7 5 VWSTFVT VY FOGDHE 57’

Options:
Epidermis with thick cuticle and Silica crystals

. 00BN SN (o e TSG)o, ndse Ry

Stomata are hypostomatous

- S eriry $o 8 HODSHD DG Cogren

Vascular tissues are poorly developed
SE, T NJ)E BoHAIWD) TIS® SHAPUTW
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Mechanical fissues are well developed

_ T 09D5)0 BoBain) airedSs SHErereD
4, ® =

Question Number : 24 Question Id : 8135612904 Display Question Number : Yes Is Question
Mandatory : No

The respiratory quotient for fats is always

D g, TGRS 3085 Dend VDG

Options :

1.% 1

5 % 9

3 B>3

4.v <1

Question Number : 25 Question Id : 8135612905 Display Question Number : Yes Is Question
Mandatory : No

FAD is electron acceptor during oxidation of

20 8818680 Wokto Y FAD JUTS (SO Gotwobd?

Options:
a — ketoglutaric actd —— Succinyl CoA
@ — SE°1ErBS o —— DI IS EDoZ A

Succinic acid —— Fumaric acid

e RDSIS 0o — QYOS o

AP EAPCET 2021 _
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Succinyl CoA —— Succinic acid

L x P8O EdoBS A —— 28,08 edo

Fumarnc acid —— Malic acid

4w DJOS o —— 25708 esdo

Question Number : 26 Question Id : 8135612906 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Respiratory pathway is amphibolic pathway
Reason (R): Respiratory pathway volved in both anabolism and catabolism

A3ydo (A): FRSAr rdo GO LDl Srdo
s°6t3o (R): F(REAr Ao oy e Soben. MDY Soben Botot)e)’ avg’mm

Options:

A 1s correct but R 1s wrong
1 % ARBIG 57 R D5

A 15 wrong but R 1s correct
. A D057 5 R D0AH

Both A and R are correct and R 1s not the correct explanation for A

3 % A 8030 R e Godir DB &80k R 938 A 8 28 D68 5760

Both A and R are correct and R 1s correct explanation for A

4 A 08030 R e Godr 0D 570 R 09386 A S 2T DH0er

Question Number : 27 Question Id : 8135612907 Display Question Number : Yes Is Question
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Mandatory : No

Match the following?

AP EAPCET 2021

Column I

Column I

(a) Francis Darwin

(1) Kinetin

(b) F. W, Went

(11) Gibberellin

(¢) E.Kurosava

(d) F.Skoog

(1v) Auxin

Sof) T°A BBDGWC?
Q0N -1 S0 - 11
(a) S B (1) 3963
(b) F. W. Dot5 (i) 2209w
(¢) E 2o (i) S5°0d S erad
(d) F. "narbﬁ (1v) véﬁw
Options :

. % (a—iv),(b—iii),(c—ii),(d—i)

, o (a—iii),(b—iv), (e —ii),(d—i)

3 % (a—i),(b—ii),(c—iii),(d—iv)

4 % (a—ii),(b—i),(c—iv),(d—iii)

Question Number : 28 Question Id : 8135612908 Display Question Number : Yes Is Question

Mandatory : No

AP EAPCET 2021
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Assertion (A): Pea seeds swell more on imbibition than wheat seeds
Reason (R): Proteins have high imbibing capacity

Dydo (A): Ao S0 wEP FTen Hcdd IFTL Sotd I8y ST Gad\Tow

5600 (R): YO0D 0B IFD a-’a:gsu g0

Options :
A 1s correct but R 1s wrong
| x ARG 57 R 2B

A 1s wrong but R 1s correct

, x A R85 52D R 2906

Both A and R are correct and R 1s the correct explanation for A
3 ¢ A 08030 R e Gokr 200D 8030 R 0938 A 8 D0 D566

Both A and R are correct and R 18 not correct explanation for A
4 % A 500030 R a0 Godr D00 570 R 0936 A S 20D D506 5°¢0

Question Number : 29 Question Id : 8135612909 Display Question Number : Yes Is Question
Mandatory : No

Identify the reaction for which the C, plants require some extra ATP molecules i comparison

to C; plants?

C; 200808 T C4 208) 08 o §Q) ATP e wskdo. £ E6 &
56§ BotSoc.”

Options:
Conversion of PEP to OAA
1% PEP, OAA ™ 307060

2.9
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Conversion of Pyruvate to PEP
20028, PEP r° 857800

Conversion of Malate to OAA
L ST, 0AA ™ S8R

Conversion of PEP to Malate

4 % PEP, S3rGeimr Ardd)ed

Question Number : 30 Question Id : 8135612910 Display Question Number : Yes Is Question
Mandatory : No

(1) Indole 3 — acetic acid
(1) 2,4 dichlorophenoxy acetic acid

(1v) Naphthalene acetic acid

Above are the examples of which PGR?

(1) @o&ES — 3 — S o
(i) 2,4 — & EBDTSy 028 es:dvo
(iii) 6. BoEIS e[BS 8o
(iv) =0DS D)8 es00
DD &) @ PGR £ &oriroeen?
Options:

Auxin

Cytokinin
TS

2. % &

AP EAPCET 2021 .
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Gibberellin
aeaaaﬂ.s
3. - &

Ethylene
4 % 60D

Question Number : 31 Question Id : 8135612911 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect pair of viral diseases in plants?
BLS DEY D) DO JHY A VLD IFy T(EVS” POADIG STAG?

Options:
Chlorosis — Peach

. GBS — S
1. ®

Vein clearing disease — Bhendi

. Sie DOBo — ok
2. % -

Malformation — Swollen shoot of Cocoa
, SETDS - g8 GenySTotio

Viroid — Mosaic disease in Tobacco

- DTCANE — JTTES” Azrons T8

Question Number : 32 Question Id : 8135612912 Display Question Number : Yes Is Question
Mandatory : No
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A true breeding plant 1s

RBDBID D), T

Options :
One that 1s able to breed on 1ts own
. B0 TodoT RDoTrS3d Badbrivd

Produced due fo cross — pollmation among unrelated plants
., NooGo 5 AE) e [ DEDT( VD)0 DY DEYEID

Homozygous and produces offspring of 1ts own kind

3 o -.:amo:mném S80I &R V(oD VoTrdo &I\D DR

Always homozygous recessive in its genetic constitution
L, T 2o Tarferiod” B8 ULNED DRIV 2 eBEBeT Gotol

Question Number : 33 Question Id : 8135612913 Display Question Number : Yes Is Question
Mandatory : No

Who proposed the chromosomal theory of mnheritance?

D 0I0IES JTTee ) DD DAFBowrdy?

Options :
Sutton and Mendel

_— ﬁgﬁmmhwé

Morgan and Mendel

5 % 213?.5 OB oked
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Bover: and Morgan
eSO SOOI AT

Sutton and Boven

. roegs 0003 &350

Question Number : 34 Question Id : 8135612914 Display Question Number : Yes Is Question

Mandatory : No

Assertion (A): Purine always comes opposite to a pyrimidine
Reason (R): Appropriate uniform distance 1s maintamed between the two strands of the DNA helix

A3ydo (A): :;yﬁé.sw DRRYYEP BAEIS) BDAVPOTT G0t
s°6e30 (R): DNA 28\0085" ot J'esw 065§ 1) (5760 oM™ &0t

Options:
A 1s correct but R 15 wrong
| % A D0 57 R 2B~

A 15 wrong but R 1s correct

5 % A D857 57 R 202

Both A and R are correct

, o A 200050 R &0 Bocr 23D

Both A and R are not correct
A 508050 R e Bodor 0D 5°)

Question Number : 35 Question Id : 8135612915 Display Question Number : Yes Is Question
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Given the diagram of the lac operon showing an operon of inducible enzymes. Identify components and
enzymes (A. B, C.Dand E)?

T\ €8 20D Do DBV VTN 28 wTRD ErYdied. A, B. C. D odokw E

e 80k doFaw Botsod.”
Pl 4 plo| z Yy | @ | Transcription
l VTPV
sor mR! lac mRNA
repressor mRNA VAU AN |
36 oraerd RNA oS rraberd mRNA
l Translation
D+ @ CRURAA
T, R | AL i
|
/‘ l :m ! Enzymes
e @ | A B GRSV

Options:
A - f. Galactosidase. B - Permease, C - Transacetylase, D — Repressor protein. E - Inducer (lactose)

1 wA—ﬁ.wvghéé. B-00)ab8. C -&rd\whoos. D-0pd6 J8S.  E-oso (§4)

A - p. Galactosidase, B — Permease, C — Transacetylase. D — Inducer (lactose). E — Repressor protein

5 % A-p.moENas,  B-00)abE. C-roywdpds. D-poko (§8). E-0d6 IS

A - B. Galactosidase, B - Transacetylase, C - Permease, D — Repressor protein, E - Inducer (lactose)

. A-P.moERCE.  B-erdwopds. C-08yab D-oo¥6 IES.  E-dso (0rEd)

A - Permease, B - Transacetylase. C - f. Galactosidase. D - Repressor protein. E - Inducer (lactose)

- A-20)ab8. B-rOywdp0s. C-f.modnds. D-pr6JdS.  E-poto (0§d)

Question Number : 36 Question Id : 8135612916 Display Question Number : Yes Is Question
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REN enzymes cut the two strands of DNA at different locations

ORES AollArdad doBuen DNA awwg), Gocd Jeswis HB BT 56 $G60i
QT Do

Options:
Staggered cut
v 135 DD

Exo nuclease

L o 95 ArBabs

Endo nuclease

Dol Méédihﬁ
3. % e

Palindrome sequence

4 x FDoEDSE SR gadvo

Question Number : 37 Question Id : 8135612917 Display Question Number : Yes Is Question

Mandatory : No

The separated DNA fragments can be visualized after staining with

.‘aoxsomg DNA 2orre) tréerds 6003rMow e9ddoao

Options:
Caleinm Chloride
5ot §0&

1.%

Ethidium Bromide

> & dBE N0 5 E
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Acetocarmine

3 % DVETOS

Orcein

Y-

Question Number : 38 Question Id : 8135612918 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): All Eukaryotic cells have RNAI for cellular defence
Reason (R): RNAi silences mRNA and prevents translation

A3ydo (A): ©) duBogs EHE” St 646 DES™ RNAL 3(886e0 2608008
6o (R): RNAI {3860t mRNA & SO OTTA) AGod mRNA ©r0Pv
VAN oh BEOMD

Options:

A 15 correct but R 1s wrong
1 % A DGIE 57 R Doz

A 1s wrong but R 1s correct
, x A R0T® 5D R 0706

Both A and R are correct and R is the correct explanation for A

3 A 500030 R 2 Godsr D0 08030 R 0938 A S 20D D50

Both A and R are correct and R 1s not correct explanation for A
A 5080 R e Godr 20D 57 R 0938 A S D0 D568 5760

4. %

Question Number : 39 Question Id : 8135612919 Display Question Number : Yes Is Question
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Mandatory : No

Which of the following is a non-symbiotic biofertilizer?

& $08 T785° DIFRIDo ROHJ £ D) VA?

Options :
1. 8« VAM

Azotobacter

005 ¢85 86
2.9 @

Anabaena
3 % OIDI

Rhizobium

- BE ' Dado
4, % =

Question Number : 40 Question Id : 8135612920 Display Question Number : Yes Is Question
Mandatory : No

Activated sludge have the ability to settle quickly so that 1t can

26 HIBACo TT° HHF DBOETE0 BT D6HE FA0 Dy $DA Sobod?
z @ ® &

Options:
Be rapidly pumped back from sedimentation to aeration tank
| @ OOF GV o) TAIVFOS (eSS Do Dod BoDLET O

Absorb pathogenic bacteria present in waste water, wlule siking to the bottom of the settling tank

- W (08 B8y SBRYE Sadard S’ &old T(Buds erdB0Sre) §aotitidaran
- M R

Be discarded and anaerobically digested
. D“@é&oﬁ&ﬁ:&oé D80 TG TedorT é.ga 29:)B0d

3. -
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Absorb colloidal organic matter
S'grande $6)d HFTY) Fotdoted

4. %

Zoology
Section Id : 81356164
Section Number: 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response :

Question Number : 41 Question Id : 8135612921 Display Question Number : Yes Is Question

Mandatory : No
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Match the following?

AP EAPCET 2021

Column I

Column II

1)  Biodiversity Hotspots

a) Minmally disturbed for the conservation of the resources

11) Biosphere reserves

b) Specific endangered faunal species

i) National Parks

¢) A groove of trees of special religious importance

1v) Sanctuaries

d) Biologically richest and most threatened terrestrial ecoregions

v)  Sacred grooves

¢) A natural habitat strictly reserved for protection of natural life

308 T8 BBVGHE]

Q00 1

00 11

) WIrEI0N 6

a) S9NV Podgerdo I ovac. SO D3(s Hdto

1) S0¥Y) M6ES Somren

b) ©odBod'did) D08 o 2pdo0 0088 ol

iii) 2rdod &dabw

¢) o é":maaéé (CINERINIVAL

V) agoirdm'ﬁw

d) - e08j08 3003y Ao otwid) &3 iy SRS Ty
(361 JoTre

V) T deren

e) .-5::5&;30 2AES ngaoauéa NELS Dery
bgmmm TR0

Options:

1

% (i—a),(ii—b),(iii—c),(iv—d),(v—e)

2‘w(i—d),(ii—a),(iii—e),(iv_b),(v_c)

5w (i—e),(ii—a),(iii—b),(iv—d),(v—c)

4. # (=b), (it=a), (li—e), (iv—d),(v—¢)
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Question Number : 42 Question Id : 8135612922 Display Question Number : Yes Is Question

Mandatory : No
Match the following?

Sub Division

Character

Example

a) Acoelomata

1) Coelom 15 formed by
archenteron

p) Mollusca

b) Pseudocoelomata

i) Without a body cavity

q) Hemichordata

¢) Schizocoelomata

1) Body cavity should not lined
by mesodermal layers

r) Nematoda

d) Enterocoelomate

1v) Coelom is formed by

s) Platy helminthes

splitting of mesoderm
So8 &R 2300B0C.?
G BN LMo Sl
2) Dok ) 880 Aot 08D p) S0
DyCo
b) RrENSDY | i) 360 Lirdo T Sc Q) sy
¢) RENS Dtr ) P00 DRSS 1) e
98038 Scko
) QolBRS'Dtr | i) D oo sp 386 | ) Fhirdyead
S do bt
Options:

. x (a—ii—r),(b—iv—s),(c—iii—p),(d—i—q)

, x (a—ii—s),(b—ii—r),(c—i—p),(d—iv—q)

3‘%,,»(a—ii—s).(b—iii—r).(c—iv—p),(d—i—q')

4 % (a—ili—s),(b—ii—r),(c—iv—p),(d—i—q)
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Question Number : 43 Question Id : 8135612923 Display Question Number : Yes Is Question

Mandatory : No

In a comparative analogy between the aeroplane and ecosystem the Rivet Popper hypothesis
used by Stanford ecologist Paul Ehrlich's. identify the correct matching?

Column I Column II
1)  Ruvets a) Ecosystem
i)  Aeroplane b) Species
i) Popping of a rivet ¢) Key species
1v)  Rivets on the wings d) Proper functioning of eco system
v)  Flight safety e) A species to become extinct

FRDE HT(36Y S JBS DBJBotdd T 6 Eyficiae YErdorr BI6E B[
ONHR DErded BTN & $ob DBeOD T HBotsol?

200 1 260 11
1) 63@53 a) uadea;szgarg
i) Qo b) ardoew
1) ) Fo S 8365 Forbe ¢) o8] SR
iv) 08,0 o) By ) 30 B55% dgorr HASek0w
V) Lo DGR ¢) AW Boddotdot)

Options:
1 o Ei=b),(ii~a), (ili—e),(iv—¢),(v—d)

L (i—b),(ii—a),(iii—c),(iv—e),(v—d)
3. % (1_b)!(u_d).(lll—E),(lv—(‘)’(v_a)

4 % (i—b),(ii—d),(iii—c),(iv—e),(v—2a)
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Question Number : 44 Question Id : 8135612924 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Biconcave shape of mammalian RBC facilitates gas exchange

Reason (R): Biconcave shape provides a high surface to volume ratio

TG (A): 266 G 658 AEREPSS 56 TAWPHY IVDAITIS ) S BT
90BR008
s°drio (R): A(RErs™6 ws°0o a)s)gj;b &0 DB 3%@3 IV AV

Options:

Both A and R are correct and R 1s the correct explanation of A

5 A 00050 R e Godir D0 290050, R 0938 A 8 289000 D500

Both A and R are correct and R is not the correct explanation of A
A 0803w R e Sotir 08 220002). R @938 A § 202008 D508 5760

A 1s correct but R 1s wrong
A DBHS 57 R DO

A 1s wrong but R is correct
A D057 57 R D0/

Question Number : 45 Question Id : 8135612925 Display Question Number : Yes Is Question
Mandatory : No

Arrange the following m the descending order of their number per cubic millimetre, present in the blood?

63:3008° 28 %) OGS GR) 0580 R0 BErdor SR I 65STU b e
$08" ©)6\0d.”
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Options:
Erythrocytes = Thrombocytes — Neutrophils — Lymphocytes - Monocytes — Eosinophils — Basophils

1

Thrombocytes = Erythrocytes - Neutrophils - Monocytes — Lymphocytes — Eosinophils — Basophils

2 % @uﬂﬁhﬁﬁh L mﬁ@jﬁ L KU”?S@‘:JESJ T ms’..’ﬁh i a".ﬁhﬂﬁg n 93305:3253 - ﬁ‘ybéb

Basophils — Eosinophils - Monocytes — Lymphocytes — Neutrophils - Thrombocytes — Erythrocytes

L O 6030 - a7l - Dok - Aoy, - et - Do)

Basophils —+ Monocytes — Eosinophils - Lymphocytes — Thrombocytes - Neutrophils — Erythrocytes

4 % E.SMJ - bJ“SEJ_ﬁJ - 64303563 - 5-;5“’&&53 - g‘o&ﬁh EPSJ - m’ﬁ@imﬁ) - 305@5‘)

Question Number : 46 Question Id : 8135612926 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following statements about muscles are correct?
(1) Muscles show three essential properties such as excitability. conductivity and contractility
(1) Muscular tissue is endodermal 1n origin except muscle of iris and ciliary body
(1) The cytoplasm of muscle fiber has several myofibrils
(1v) Skeletal muscles exhibit slow and prolonged contractions
(v) The regular arrangement of myosin and actin filaments 1s reasonable for altemate dark and light

bands of striated muscle

SotT"R3 NotloBot) o8 & VSN RO BN’
(i) Sotiome) Surch 0000 LEFFLRY BT Gdao. TLrEKo 00NN B o DB o
(ii) Sotler6s. 30s* Gir Sotirre By S0t SREFLO BoBOA 2o
(i) S06i6 B0 £ HIFGANE’ 8RS A SoG SoBdYeY Gotran
(iv) 888 Soci6o Ay B B ROSTUR triedd Sotido
(v) 98 Arg) Sotd Bod0" B¥RD S0k Jrhen. D) Sod6 e SndAT 60
Gotitio 50 B8 503, D08 Hide 6\GTra

Options:
(i),(ii) & (v)only
1 (1),(ii) & (v) g

(i),(iii)&(v) only

(i), (ii),(iii) & (v) only

(i),(iii), (iv) & (v) only
4 % (1), (i), (iv) & (v) Sogdo

Question Number : 47 Question Id : 8135612927 Display Question Number : Yes Is Question

Mandatory : No
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Select the statement which 1s mcorrect about the class Turbellaria?
E.)dagﬁoﬁ“ QLTS DotioHow) DO PSR 2O?

Options :
Animals are free living or parasitic

.- SIS~ 2D I DO 2dHen

Incomplete alimentary canal
, BRorg a",gwu

They reproduce asexually by budding

DHS” 20 Fbe) TTT BToNS DABS BB
3.¥ g " &

Body wall has rod shaped bodies called rhabdites
2 BIPE(S” Botrs"008” &) T LA & JT7)EFLD Gotow

Question Number : 48 Question Id : 8135612928 Display Question Number : Yes Is Question

Mandatory : No

AP EAPCET 2021
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Match the following and choose correct combination?

Column I Column II
1) Cellular grade level a) Pheretima
i) Tissue grade level b) Schistosoma
111) Organ level ¢) Obelia
1v) Organ system level d) Sycon

& 808 HBAVH BBV Josrs Bakod?

3605 1 3600 I
i) Smgvo.n ::5:;;3509 a) DB
1) $02P0) 0N .‘35:)55693 b) AP
® @ e
iii) €955 g-cm ¢) LDdair
1v) ©30503 3(H o d) ¥5°D
® ® e

Options:
1 % (i=b),(ii—c),(ili—d),(iv—a)

, x (i—d),(ii—=c),(ili—a),(iv—Db)
3 % (i—d),(ii—b),(ili—c),(iv—a)

4 o Ci—=d (i =)/ (i —b), Chv—=a)

Question Number : 49 Question Id : 8135612929 Display Question Number : Yes Is Question

Mandatory : No
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Choose the correct combinations related to different larval forms?

AP EAPCET 2021

Column I

Column II

Column II

a) Ctenophora

1) Holothurian

p) Tomaria

b) Annelida

i) Pleurobrachia

q) Veliger

¢) Mollusca

ii1) Balanoglosus

r) Trochophore

d) Echmodermata

iv) Aplysia

s) Cydippud

¢) Hemichordate

v) Nerets

t) Auricularia

M T Rotiofot) NBALN SVONSVR Jows Babod.?

560 1 6o 11 36 11
a) 856 ) Fdrdosr p) &) Bosr
b) e3de i) QP8 epdosr q) ddub
c) 00 1i1) SRS 1) 5EY6
d) apSasyer iv) denoir $) NADE
e) RSB v) 82 1) ebdxgoasr

Options:

1 ¢ {a—it=8)(b—v—r}{c—~iv—q)(d=i—t),(e=1i~p)

, u Ca—wr—p)i(b—v=r) fe=i=1),(d—i—q) (e—Tlii—s)

3 % (a—ii—s),(b—iv—r),(ec—v—q),(d—i—t),(e—ili—p)

4 % (a—=i—p)(b=v—r)(c=iv—gq)(d—ii—¢),(e—ii —1)

Question Number : 50 Question Id : 8135612930 Display Question Number : Yes Is Question

Mandatory : No
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Male has a brood pouch 1n

D DA BDS” M Do) Gotwod?

Options:
Kangaroo

Hippocampus

9 'y F,
5 o Jﬁ’hs'*a.s.a

Penguin

:aohs.f)

3. %

Ostrich
SN
4.8 £

Question Number : 51 Question Id : 8135612931 Display Question Number : Yes Is Question

Mandatory : No

The nerve cord of chordates is

S0 PO TGBoto

Options:
Simgle. solid. ubular and non-ganglionated

|y W8 WwSOT, SGUTr, TPSTS G0 SBAID TG VoREFSor

Double. hollow. tubular and non-ganglionated

Ly G5BT, &'eur, TISainden™ 20805 T VoSCITST
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Single. hollow, tubular and ganglionated
203 2,860, 5%, TPUSTORD@TT B TG DodDITSorT

3 ®

Single. hollow. tubular and non-ganglionated

5 o W8 288, 'eore, TOsTatudorT SuBak TG PodEITSorT

Question Number : 52 Question Id : 8135612932 Display Question Number : Yes Is Question
Mandatory : No

Ascidia belongs to the subphylum

DCOIT D &DDCo VY SETALTAT AL AN

Options:
Urochordata
a8 s Ger

1.« =

Cephalochordata
. NS0

Craniata

. x Sdcher

Unichordata
oSO
4. 8 G

Question Number : 53 Question Id : 8135612933 Display Question Number : Yes Is Question
Mandatory : No

In which of the animal dimorphic nucleus is found?

Sod Te5S” BAODE BLETDS Sofso SVED?
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Options:
Paramecium caudatmm
i Froe R 0ie SELe

Amoeba proteus

- eoder YSoHD

Plasmodium vivax

3 & FJ) c.oPo T8y

Trypanosoma gambiense

. 8DIV B mrodaddy
4, %

Question Number : 54 Question Id : 8135612934 Display Question Number : Yes Is Question

Mandatory : No

Choose the correct statements related to binary fission of paramecium?
(1)  During favorable conditions paramecium stops feeding after attaning its maximum growth
(11) At furst the micronucleus divides by amutosis and the macronucleus divides mto two
daughter nucle1 by mitosis
(1) The proter receives the anterior contractile vacuole, cyto pharynx and cytostome from its
parent individuals
(1v) Before karyokinesis a transverse constriction appears in the middle of the body

2628080 BT\ 4 Hotiodlod) 909 DELBL HBotsol?
(i) Souiato OREre DOV Q) o B8 o B0
(i) ek Arg)SodSo JEPAR @0, A0 SodiSo NDBBD oy BB Boded
(iif) 6 poiod MoS e B3sA s 22, ¢ Sward) 39 & &otd Jodddod
(1v) SBOIrEINN Ao 06 @tfod w8 S8y, 6\eAI0R

Options:
1. %

AP EAPCET 2021

[ ]
gcollegedumas
India’s largest Student Review Platform

el



AP EAPCET 2021

Except ( iv ). all are correct

(iv) 82y, DADDID ey WBID.

Except (ii ). all are correct
(ii) 8y, DADDD ey 2D,
2. % =

Except ( ii ) and ( iv ) all are correct

, o (i) 208030 (iv) 82y, DoABID en) DI

Only (i) 1s correct
4« 8500 (i) A8 206,

Question Number : 55 Question Id : 8135612935 Display Question Number : Yes Is Question
Mandatory : No
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Match the following options gives the correct matching of the decease with its causative

organism and mode of mfection?

Disease Causative organisms Mode of infection
(1) Typhotd Salmonella Typhi with mspired air
(11) Prieumonia Streptococeus droplet infection
preumonia
(111) Elephantiasis Wuchereria Bancroft Infected water and food
(1v) Malana Plasmodium Vivax Bite of male anopheles

T - B adso - N05a008 DEFNONE NotoBow) So8 TG’ VPN TN Jows taked?

Tie (B 280 Rogodd derdo
(i) Sroné T30 G0 &y 200
(i1) ook :ugﬁ‘sfo Ar@rar | 06w
(iid) DDoBairHd e;;aao:r EPOg™D) Sennd DA
(iv) | Sdsatr V) dobo vy | o JrbBR Do dv
Options:
(i) only

1 % (1) g

(ii ) only
5 (ii) drgd

(iii ) only
3 % (i) Srgd

(iv ) only
4. & ( iV) wgﬁ’

Question Number : 56 Question Id : 8135612936 Display Question Number : Yes Is Question
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Mandatory : No

In the given diagram of the Trophozoite stage of
entamoeba identify parts labelled as 1,2,3,4,5,6
and select the option?

& S0t AS(AD dobiser akog), Jig 63 Bockd
1,2,3,4,5,6 @Tros) h0o0) 208 A&rErod
QoS Wodok?

Options:

1 - Psendopodium, 2 - Endoplasm, 3 - Ribosome. 4 - Cartwheel shaped nucleus. 5 - Food vacuole with RBC.
6 - Ectoplasm
L - Qogrircio, 2 - €odfed ddxereo. 3 - Bi'H . 4 - tiod o 85" Bogibo. 5 - Jg0gErTROS &rid wifd

| e o-oydasip

1 - Pseudopodium. 2 - Ribosome. 3 - Endoplasm. 4 - Food vacuole with RBC. 5 - Cartwheel shaped nucleus,
6 - Ectoplasm

L - oer(irdo, 2 - B'E D, 3 - 08 Gervo, 4 - J6gEmLS Srdd 6o 036, 5 - ol o 'S
5 Soto. 6 - T éiﬁg.‘.’5u

1 - Pseudopodium. 2 - Endoplasm. 3 - Ribosome, 4 - Food vacuole with RBC. 5 - Cartwheel shaped nucleus.

6 - Ectoplasm
1 - (o, 2 - 003 Beervo, 3 - 38D, 4 - JgogErud Srcd wife 688, 5 - ol tigo s

. SogiSo, 6 - trer B B0

3

4, %

AP EAPCET 2021
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1 - Pseudopodium, 2 - Ectoplasm, 3 - Ribosome, 4 - Cartwheel shaped nucleus, 5 - Food vacuole with RBC,

6 - Endoplasm

L - grircio, 2 - eriz £ 30, 3 - BIED 4 - ol tio 5" otiSo, 5 - Agogsrod Srid uife

848, 6 - ©0dd5 Grvo

AP EAPCET 2021

Question Number : 57 Question Id : 8135612937 Display Question Number : Yes Is Question

Mandatory : No

Match the following related to effects of parasites on host?

Parasite Effect on host Host effected
a) Sacculina 1) Hypertrophy p) Sheep
b) Larva of Fasciola 1) Hyperplasta q) Snail

¢) Plasmodium

111) Parasitic castration

r) Carcinus

d) Fasciola hepatica

tv) Gigantism

) Man

e300 i Do) BV DB PotoBod) $ob THI BEVCSE?

D0°) 8 3B YaPdo QIS8 AG
) T ) 066D p) 53
b) Frare U0 i) FH6F datr Q) ¥
c) ?%&m iii) Do) 2a) ?2‘&15 1) SRR
d) Fadre s iv) ©dsTohd 5) ArRYHE

Options:

. o (a==ga=r), (b=a—p), le—i=w), (d—ip—q)

, » (a—iv—r), (b=ii—p), (e=i—s), (d—iii—q)

3 ¢ la—iii—r), (b—iv—q), (c—i-s), (d—ii—p)

AP EAPCET 2021
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4« (a—iii—r), (b=ii—p), (e=iv—s), (d—i—q)

Question Number : 58 Question Id : 8135612938 Display Question Number : Yes Is Question
Mandatory : No

The mner surface of labrum of cockroach bears

cﬁ‘gos i.a'gn 5°08 S DO SR Sotwod?

Options:
Gustatory Sensillae

o SN RSN S LIV

Olfactory Sensillae
SAT7ED NI
, x & AL

Nasireceptor Sensillae
o TR TIPS DAV

Chemoreceptor Sensillae
S OD TS SRSV

4, %

Question Number : 59 Question Id : 8135612939 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021 _
collegedunia:s

India’s largest Student Review Platform

el



AP EAPCET 2021

Match the following?

List I List II
1) Proventriculus a) Anterior chamber of preoral cavity
1) Cibarum b) Stomodaeum
1) Hindgut ¢) Enzymatic digestion
iv) Foregut d) Real Absorption of water
v) Mesenteron ¢) Grnding food
S0B TR BADGHE?
031 byl
i) PO fochow 2608 a) SO Aok &) Po( Sirdo
i) ~Eao b) escinme
iil) WoT(F6Tvo ¢) DoB O T égécm
iv) QPO d) A HdFae
V) efedo e) oGd

Options:
1« (i—e), (ii—a), (4ii—d), (iv—Db) &(v—c)

, % (i—e), (ii—d), (iii—b), (iv—c)&(v—a)
5 % (i—e), (ii—a), (iii—¢), (iv—Db)&(v—d)

4 % (i—=b), (ii—a), (ii—c), (iv—-e)&(v—-d)

Question Number : 60 Question Id : 8135612940 Display Question Number : Yes Is Question
Mandatory : No
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The miimum proportion of impurities that made the drinking water unfit for human

consumption 1s

S0 dodd 2geds” DBTen T A’ Swko S &8 A SR ArdS AT
QArDAIr o )BT 0’

Options:

1.0 percent
1 % 10380

2.5 percent
2. &% 2.5 7=do

0.1 percent

3@ 0.1 &0

0.01 percent
4. ® 0.01 =0

Question Number : 61 Question Id : 8135612941 Display Question Number : Yes Is Question
Mandatory : No

Light 1s an ecological factor that shows its influence on many biological activities like

pigmentation. metabolism ete. cave dwellers exlubit

SP0d 2T°08% 52050 BSGo HV TR PeTdo 560, 2550020 VGOV aOSUfQ
A6, MUY’ 2ot P & Sob VL) DAB 0N’

Options:
Low pigmentation. high metabolism
. B8y Sbo, AS 293090
1. 8 ¥

2 R
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High pigmentation. low metabolism
9BS 0o, O 2303
2]

High pigmentation. high metabolism
©8S S0, ©BS BDF0D

3.

Low pigmentation. low metabolism
B8 S G0, By - Pel—{oub)
4. &

Question Number : 62 Question Id : 8135612942 Display Question Number : Yes Is Question
Mandatory : No

Fluoride pollution mitially affects

J'oé sTeiyfo AT B S PEPBo BIYHR?

Options:
Heart

% TGaD0

Kidneys

L
, x SOTGdorTe

Bramn

L % B

Teeth

Question Number : 63 Question Id : 8135612943 Display Question Number : Yes Is Question
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Mandatory : No

Assertion (A): Landscape is the unit of land containing different ecosystems surrounded by
natural boundaries

Reason (R): Landscape 1s the level of organization which 1s higher than ecosystem

TGR (A): Brdv D8O TS HAFROT Gol VT roa:rgma" &red DG 050
2500 300l BN Gotnod

5600 (R): &rde 06, 55:%569: Do LT S0 S0 g0t g“umﬁ“ GotLod

Options:

Both A and R are correct and R i1s the correct explanation of A
| A 00030 R &0 Godr 20 ©andD. R 6938 A S 289005 D566

Both A and R are correct and R 1s not the correct explanation of A
5 % A S0Bain R e Gocrr 28 ©00d. R 0936 A S 20000 566 S°E

A 1s correct but R is wrong
3 % A DTS 57 R 2o

A 1s wrong but R 1s correct
4% A D857 57 R 2B

Question Number : 64 Question Id : 8135612944 Display Question Number : Yes Is Question
Mandatory : No

Sewage water can be purified by

2088 DD 208 TS5° IO &HABrHoD) 300 SOy ?

Options:
Penicillin
| % :3.3385
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Fishes
5 % WO

Aquatic plants

3 % b&ﬁnsbw

Micro organisms

TS (3%
4. &%

Question Number : 65 Question Id : 8135612945 Display Question Number : Yes Is Question
Mandatory : No

Biological equilibrium is found among the

S0 T)e5° BHo RTRE Botod.”

Options:
Producers and consumers

5 @ GO\ SO ERD HBA DO AT ERD

Producers and Light

GO\ 00 Stod
2 % =

Producers. consumers and decomposers

GO\ ST, DOIT AN Ada3L Drﬂaals"d)w
3. =

Producers and decomposers

aabawmw Sudain bﬂaélvdaw
4, ® T :
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Question Number : 66 Question Id : 8135612946 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Anaerobic respiration yields less energy utilizing oxygen
Reason (R): In anaerobic respiration, energy is released due to incomplete breakdown of
organic molecules

O (A): 881298 DAarAechE D Lo FRED § g&é 35 DL BRVB.

5°600 (R): warain ?5‘.05,01)6“ S63D RV VRTOT D\ 0 Bobeto SR 38
DEEV)R0B.

Options:

Both A and R are correct and R 1s the correct explanation of A
| A 08030 R 2 Todyr D0 2200303, R 938 A S 2000008 o506

Both A and R are correct and R 1s not the correct explanation of A
, % A 0Bcin R ew Sor 26 e900dD). R 0938 A 8 28e900 DH6E 57

A 1s correct but R 1s wrong
» A VDD 57 R 2O

A 1s wrong but R 1s correct
4 v A RO 57 R 2J™6

Question Number : 67 Question Id : 8135612947 Display Question Number : Yes Is Question
Mandatory : No
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Match the following related to respiratory volumes and capacities?

Column I Column IT
1) Tidal volume a) 2500 to 3000 ml of air
i) Inspiratory reserve volume b) 1000 ml of air
i) Expiratory reserve volume ¢) 500 ml of air
1v) Residual volume d) 3400 to 4800 m! of air
v) Vital capacity e) 1200 ml of air

T AVBIrET, &a}g'ﬁvsb RoZodow) Sod TR 2SHGSC]

3% - 1 3650 - 11
) OES Terd a) 2500 2009 3000 0.9 o d
l) &R Q0 DB b) 1000 D.d o rd
i) TR A DIVBAr 0 ¢) 500 v.deomd
V) 038 2030030 d) 3400 R0 4800 .d & P
V) S Fdeo e) 1200 vdeorrd

Options:
1 » (i—e¢),(ii—d),(iii—b),(iv—a)&(v—e)

, ¢ (i—¢),(ii—a),(iii—b),(iv—e)&(v—d)
;3 x (i—¢),(ii—a),(iii—d),(iv—e)&(v—-b)

o x (i—e), (ii—d),(iii—b),(iv—a)&(v—c)

Question Number : 68 Question Id : 8135612948 Display Question Number : Yes Is Question
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Match the following related to cardiac cycle?

List I List I
1) Cardia Cycle a) 0.2 Sec
1) Atrial Systole b) 0.4 Sec
u1) Ventricular Systole ¢) 0.1S8ec
1v) Cardiac Diastole d) 0.8 Sec
g) 0.3 Sec

::ﬁgs VAL NotloBow) Sod TON) RANGIE?

91 O 11

i) 208 duoke a) 0.2 2
i) €850 DoEso b) 0.4 28
iil) 26850 Po8to ¢) 0.1 D&
Iv) &8 DIyGo d) 0.8 28
e) 0.3 5w

Options:
x (i—d), (ii—e), (iii—b), (iv—e)

;
5 ¢ (i—d), (ii—c), (iii—e), (iv—Db)

2 % (i—b), (ii—c¢), (ii—e), (iv—d)

4 % (i—d), (ii—a), (iii—e), (iv—>b)

Question Number : 69 Question Id : 8135612949 Display Question Number : Yes Is Question
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Mark the wrong match

ST 2SDBWD T°A Booc.?

Options:

PCT — Absorption of Na* and K™ ions

. PCT —Na™ 20805 K™ exairave §3eso

Henle's loop — Concentration of urine
, % PRS0 — Jrdo DrES

DCT — Absorption of glucose

, » DCT - 684 e

Bowman's capsule — Glomerular filtration

, % Ty A0S — ASyTOBo

Question Number : 70 Question Id : 8135612950 Display Question Number : Yes Is Question

Mandatory : No

A certamn road accident pattent with unknown blood group needs immediate blood transfuston.

His own doctor friend at once offers his blood. What was the blood group of the donor?

28 6500 BAHA B HArE BB SoddT 5o I8) os VN VS0 &oB. BB
DD D) A 680 253D Trdo BADLL) BoNSBoB. AN & 6SES als), 68

=00
N

Options:
Blood group AB

. » AB 08 560
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Blood group B

B 65 560
2. % = 5

Blood group O
O 68 S0o
3.V s

Blood group A

A 68 S0
4% =0

Question Number : 71 Question Id : 8135612951 Display Question Number : Yes Is Question

Mandatory : No

The part of sarcomere that contains both thick and thin filaments are present n

F8) D06 A rrieds’ G¥RB SodoPHen, L) BodudHed Bocotd $DA Gotran?

Options:
*A” band on either side of *H™ zone

o B D0cerdd adpper &) edd DIFES DY oo

‘I" band on either side of *Z" line

, o L 998 reppur 6d) 2 HFCS 8 o

Hensen's disc on either side of ‘M’ line
. M 58 pdpper &) RS &), ardo

The Isotropic band
, w DD DICS DY
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Question Number : 72 Question Id : 8135612952 Display Question Number : Yes Is Question
Mandatory : No
Assertion (A): In myelinated nerve fibers action potentials are conducted at a faster rate

Reason (R): The myelin present between nodes of Ranvier has concentrated Na and K voltage

gated channels

TGN (4): 20003 eoryGod 4P T SoBuPS’ TG PTG 808 Dorr
DRBR008.

-

560 (R): (0506 S0 365 0D Giocoty Y Na 000k K & ABE erdvh
Sof¢)d0 BR008.

Options :
Both A and R are correct and R 1s the correct explanation of A
1 % A S0Boin R e Bodsr 28 ©00d). R 938 A § 2deod D560

Both A and R are correct and R 1s not the correct explanation of A

5 % A 200030 R 20 Godsr 20 2200350, R 938 A S 20900 208 S°E

A 1s correct but R 1s wrong

3 v A VB 57 R Do

A 1s wrong but R 1s correct

4 % A R85 5D R 2098

Question Number : 73 Question Id : 8135612953 Display Question Number : Yes Is Question
Mandatory : No

Identify the hormone with 1ts correct matching of source and function

B, 618 DBFo HBA DB BT-CorT S0 TES” DJHG WBoZN?

Options:

1. %
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Atrnal natriuretic factor — ventricular wall — increases the blood pressure
DS DOOVBES S°60 — 2EBS He — 68 DEDo Dot

Progesterone — Corpus luteum - stimulation of growth and activities of female secondary sex organs

JeJoS — 57612 aridato - Y’ Bdab Gohs wIAHTY DL WAt edao
2.8 @ . < =

Melatonm — pineal gland — regulates the normal rhythm of sleep walk cycle

i 200609 — HADE (o8 — T WD SVEEr) Aaboded §IFHE

Oxytocin — Posterior pituitary — growth and maintenance of mammary glands

4 x EHEDD - D6 Harwd — L6ecw DAXDEY HBA S Ebo

Question Number : 74 Question Id : 8135612954 Display Question Number : Yes Is Question
Mandatory : No

Which of the following endocrine gland stores its secretions in the extracellular space before
discharging 1t mnto the blood?

808 TG’ D WodF )98 (ol B FT VI G5085S DEGY B Aol S G808
Dusﬁ@o&?

Options:
Thyroid

1‘#,@0'0:3&

Adrenal
5 % e9¢, 085 (aéaasb)

Testis
5w S0 e
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Pancreas
g D0

4. % @

Question Number : 75 Question Id : 8135612955 Display Question Number : Yes Is Question

Mandatory : No

Identify the complete and correct sequence in the passage of spermatozoa?
BOSSETA DHOITrdon SEOVEIr) Bk arg":)l (oBotSoc.?

Options:

Seminiferous tubules — Rete testis — Vasa efferentia — Vas deferens — Epididymis — Ejaculatry
duct — Urethra
08 O\(6 TS — B8 0 — WETYSW — PSTAFEW —~ AR — R VITFo —

980 - 3 A

Seminmferous fubules — Rete testis —+ Vasa efferentia = Epididymus — Vas deferens — Ejaculatry
duct — Urethra — Vagina of female
8 T°\B8 TYS — B8 iy 0 — WETYSU — DL — NSTFS — V) VITYo —~

580 = ® Gr
2. ¥ ”

Semuniferous tubules — Rete testis — Vasa efferentia — Epididymis — Urethra — Vagina of Female
 ofTrds T8 — 68 doiyo — WETVSW - ADGEDD - PR — § AN

Semimferous tubules — Rete testis — Vasa efferentia — Ejaculatry duct - Vagina of female

NET |68 T — B8 iy o — NETVW - QUITY  — Q AIrd
4, % \ S

Question Number : 76 Question Id : 8135612956 Display Question Number : Yes Is Question
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Match the following and chose the correct combination?

List I List IT
i) Inguinal canal a) Termunal skin of Penis
i1) Prepuce b) Cells encircling Oocyte
i) Leydig cells ¢) Connect abdominal cavity and cavity of scrotal sac
™ DISC.HS d) Testosterone production
proligerus
e) Activating the sperms

Sofd TR RADOL), VON VATTHo) doss Bodod

031 Oy I

1) Tl Tvo a) DI ST &Fbl ﬁd&n

1) <o B6)o b) ©olkdrd,Stio GlIF &R STLD

ii) D&A srren Q) GBS HITI) Sy Fd Lirded swido

v) GRS JOEED d) ST 633

) SSTU ‘_Mf\":sﬂ wabéo

Options:
1 ¢ i—c)(ii—a),(iii—d)(iv—b)

2. &% (i—a), (ii—c¢) (ili—Db),(iv—4d)
3 x (i—b),(ii—a),(iii—c),(iv—e)

4 # (i—e)(ii—e), (Hi—d),(iv=Db)

Question Number : 77 Question Id : 8135612957 Display Question Number : Yes Is Question
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Arrange the phases of menstrual cycle in correct order
1) Proliferative
2) Menstrual

3) Ovulatory

4) Secretary

OSBS0 Hotd DDG BFLA DA S0 WITG L.
1) TOHOLD &%
2) dodoFd &%
3) ©olid\G &%
0
4) FSs &%

Options :
1. ¢ 2, 1. 3,9

, x'L, 2, 3,4
2 %2, 1, %3

TER SR

Question Number : 78 Question Id : 8135612958 Display Question Number : Yes Is Question
Mandatory : No
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Match the following and choose correct combination related to blood groups of Man?

List I List II
1)  Sensitized Mother a) Number of genotypes for multiple alleles
i) HDNB b) With memory cells for D —Antigen
1) Isoagglutinogen ¢) Antibody of other individual. but same species
tv) Isoagglutinin d) Antigen of other ndividual, buf same species
V) n(n:l) e) IgG antibody

S 68 STV Votiodot) Sobd T RBVGW VA VATETIR Jows Botod.?

01 0 11
i) W) 8o Do 38 2) o) DSenyL e, 2R ErIY dod)|
i) HDNB b) D - 28 adso 568 2)dsrrw
iif) oI AirSSad ¢) w808 BoBd D3 I8 HAGTFW
iv) DA d) 28 08 Bodd DS I8 Hoadw
| n(n;l) e) IgG HA Biro
Options :

1 » (i—d),(ii—c),(iii—e), (iv—Db),(v—a)
, x (i—¢),(ii—d),(ili—e),(iv—b),(v—2a)
L (i—d),(ii—e),(ii—a),(iv—b),(v—c)

4 o (i=b),(ii—e),(iii—d),(iv—c),(v—a)

Question Number : 79 Question Id : 8135612959 Display Question Number : Yes Is Question

AP EAPCET 2021 .
collegedunia:
India’s largest Student Review Platform

el



AP EAPCET 2021

Mandatory : No

In a certamn taxon of insects (Example: Cockroach). some have 17 chromosomes and the others

have 18 chromosomes, The 17 and 18 chromosomes bearing organisms are

S B[S 65209 susod’ (& 5’ Bogen) §Q) 17 §ard Ao DADHD 18 §ard Ao
DA Gobraw, eond 17 Hdakn 18 §ard swew $DA 29w St

Options :

All males
09y DN BaPHew

All females

, % ©9) D Bpew

Males and females respectively

L SORMT HOR D60k > Epew

Females and males respectively
DERT ) BB PO BaPew

Question Number : 80 Question Id : 8135612960 Display Question Number : Yes Is Question

Mandatory : No
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Inheritance of which of the following traits is shown 1n the given cross’

w8 VE0 B FGA Do BeTSS Beldtond & L5

XY X XX¢
Normal Man Carrier Woman
Feeon dod ‘ BRELY)
XX XX XY XY
Normal Daughter Carrier Daughter Normal Son Diseased Son
Fepon HAR3 rd DA eein HARGED B &8) HARHE

Options :

X - linked dominant trait
X - dTrony eabvgé Vg0

Autosomal recessive trait

.3 Bers Eard’ a0 ©oddd VLo

X - linked recessive trait

X - “foirvdl 900D LENO
3.V .

Autosomal dominant trait
5 airs Earé’awe wirds vgno

Physics
Section Id : 81356165
Section Number : 3

AP EAPCET 2021
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Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks: 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response :

Question Number : 81 Question Id : 8135612961 Display Question Number : Yes Is Question
Mandatory : No

The scientific principle involved in ‘Laser’ 1s

'Tam’ & WA DS Arde

Options :

Newton's laws of motion
.'\‘1:‘50.:5 (5e2080 AALATeN

Faraday’s laws of mduction
- OGO DA

Motion of a charged particle in an electromagnetic field
| Dm5ma=boe3 ESH0S" DTS SL000 CIDE) HODIW

Amplification by population mversion
2T DS Ao SV STed S5G5300

Question Number : 82 Question Id : 8135612962 Display Question Number : Yes Is Question
Mandatory : No
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If the energy E =G "nc" . where ‘G" is the universal gravitational constant, ‘¢’ 1s the velocity

of light in vacuum and *h" 1s Planck’s constant. The values of p. g & r are respectively

$8E=G'h'c" 000, w86 ‘G 6R0R0 DI HOTEEN Dosiw, ‘¢’ 00
wa5w€ 5708 i DBatw h’ VNG JroS govusm D, § 28A5 1 DRI

DAV
Options:
=
1@ E= =g
L
2% 2 2 st
-1 1 3
—_—&—
3 & 2 2 2
1 1 -3
4% 272 2

Question Number : 83 Question Id : 8135612963 Display Question Number : Yes Is Question
Mandatory : No

The velocity-time graph of an object 1s as shown. ol
The displacement during the mterval 0 fo t; 1s / :
A i
0 g, M-S0 TH drondss. 0 0 [T %
B
oG 5‘23.‘35;5@6* DY %‘é@n’ém}

Options:

area(A4) + area(B) + area(C) + area(D) + area(E)
" (4) DTV + (B) DTV + (C) DTV + (D) DTV + (E) DTV
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area(A) — area(B) + area(C) — area(D)

2. (4) 7o — (B) pwrogdw + (€) dwogsw — (D) derogsw

area(4) + area(B) + area(C) + area(D)
o (A) 2ToEn + (B) progw + (C) dwopm + (D) 7o

area(A) — area(B) + area(C) + area(D) + area(E)

4w (A) 2Te500 — (B) pTropn + (€) 375w + (D) dFopn +(E) 375w

Question Number : 84 Question Id : 8135612964 Display Question Number : Yes Is Question
Mandatory : No

The resultant of the two vectors A and B 1s perpendicular to the vector A and its magnitude 1

equal to half of the magnitude of vector B . Then the angle between A andB is

A 280500 B Botsd 28%0 508 288 A 203 oS0 Gotoed, D HBAFHAY HE

B 58rmins’ A0 Gotioed. 00\t A &iBat B v | Sy

Options:
1. % 30°

2, % 45°
5 v 150°

4 % 120°

Question Number : 85 Question Id : 8135612965 Display Question Number : Yes Is Question
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Att = 0s. an object at origin has a velocity v = (2 i +4 j ) m.s™%. If it is acted upon by
an acceleration a = ( 1 —3 j ) m.s™2 fora duration of 6 seconds. find its coordinates at the

end of t = 6 seconds.

t=0 DY 3G 2redoddd) 6 w8 SR g o7 = (21 +4] Jmsl e
S S a=(T-3] )m.s? 860 6 25300 1t 5 BY, 6 WL SOTS ¢

DY) QS DT
Options:

, » (45,-30)

3 % (30,—45)

4 (30,—30)

Question Number : 86 Question Id : 8135612966 Display Question Number : Yes Is Question
Mandatory : No

A body of mass 2 kg moves with an acceleration 3 ms ™, The change in momentum in one

second 1s:

2 kg @03 (o S0 3ms™ (OBANE SER0B0B. 8 EE’ gbﬁédaw‘.b Sy
2od?

Options:

2
—kgms!
1.% 3

3
—kgms?

2. % 2
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, o 6kgms™

4 % Bkgms™

Question Number : 87 Question Id : 8135612967 Display Question Number : Yes Is Question
Mandatory : No

When a lift of mass 800 kg is ascending with an acceleration of 5m.s™2. the tension in its

cable will be (takeg =10m.s7%)

800 kg ¢33 580D 2,8 8D 5m.s7* B0mod pS Scorndr doll, &7 &' B8
(g=10m.s %8080d)

Options:
1 = 6000 N

, » 12000 N
5 % 4000 N

4 % 50N

Question Number : 88 Question Id : 8135612968 Display Question Number : Yes Is Question
Mandatory : No
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Two particles of equal mass ‘m’ are connected by a spring of force constant *k". The spring 15
compressed through a distance ‘x” and released. As the spring elongates if 1t breaks. find the

velocities of particles?

R GO 'm’ (0 Told ST 'k’ 0 %wos.‘m (10 Yof DS VoTTRoBLEAG. & Yo
¥ GRG0 Do Bofold DAL BADIERA. Mol ) FAAIGYE M) o
BoBRALOE, St ANE), HHiSR SR0FN0?

Options :

k

2m
1.

,k
e 5
m
@
2k
7

n
k
m

2.

X

3.8
2Xx

4, %

Question Number : 89 Question Id : 8135612969 Display Question Number : Yes Is Question
Mandatory : No

A stationary object breaks into two pieces A and B of masses 6 kg and 8 kg respectively, If
the velocity of B is 6 m.s™*. then find the kinetic energy of A.

w8 A8 gaes“ &) DR 6 kg Sodakn 8 kg Bagorsvey v A £Basn B e Bocd
S0g) e Dé.Tonod. B a3 i 6m.s™H. ey A awe), (G28s
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Options :
1.% 48 ]

, w1927

3. % 24 ]

4. % 288 ]

Question Number : 90 Question Id : 8135612970 Display Question Number : Yes Is Question

Mandatory : No

Match the following?

So® TN ADEEAD?

Column-I Column-II
(@) Fhet dK
B 5
F;JDG dt
(b} F;'.‘DHS
(1) AU+ AK
Faagos
() X Waon—cons Giid —dU
3
Z mﬁaéﬁu 522 dx
(d) Power _ap
F060 U &

Options :
. o (a—iv),(b—iii),(c—ii),(d— 1)

> % (a—iii),(b—ii),(c—ii), (d—ii)
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3 » (a—ii),(b—i),(c—iv),(d—iii)

4 % (a—ii),(b—iii),(c—i),(d—iv)

Question Number : 91 Question Id : 8135612971 Display Question Number : Yes Is Question
Mandatory : No

A constant torque acting on a uniform circular wheel changes its angular momentum from 14,

to 54, to in 6 seconds. Then the magmtude of torque 1s

DEBO BTG g0 s DER 8y HIBD & Erhad G 6 sec 0F° 14,
o0l 54, & r8od. £76), aIng), HBATrHAY

Options :

A
0

_Ao
2. % 4

x 24,

24

Question Number : 92 Question Id : 8135612972 Display Question Number : Yes Is Question
Mandatory : No
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The kinetic energy of a rolling ring of mass 0.3 kg about an axis passing through its center of mass

and perpendicular to its plane, if its center of mass is moving with a velocity of 8ms™ is

0.3 kg @503 €8, G703 Sodo ot T, 378 VollorT Golk B0 GTT SoSt
ag), (388 (00°3 Sogd Stfedow=z Bms™")

Options:
1 % 11.21J

, 1823

3 % 257

4 % 32]

Question Number : 93 Question Id : 8135612973 Display Question Number : Yes Is Question
Mandatory : No

A rigid solid sphere is spinning around an axis without any extemal torque. Due to change in

temperature, its volume wcreases by 1%. Then its angular speed

&P EPG), TS0T™ w8 RN WY A @ Sogino (o T'eho) e Howr vd)
Bonsws’ 68)8. 6006’ Srdry Sus o 8 HBATHAL 1% 2BA%6. Sddap 34

Options:
Increases nearly by 1%

1% DT 1% D6

Decreases by 1%
1% o
2. R n

3.¢
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Decreases by nearly 0.67 %
e 0.67 % SO

Decreases by nearly 0.37 %

4 % orEr)T 0.37 % SO0

Question Number : 94 Question Id : 8135612974 Display Question Number : Yes Is Question
Mandatory : No

Two 1dentical springs are connected to mass m as shown (k =
spring constant). If the period of the configuration in (1) 1s 2s. k

the period of the configuration (i1) is:

Bt VORI D)ofl & BT m & DLXWS' erddLvT

Rotroustgran. (k =yof Norosn) (1) 0208 cwe) m m
85569 S0 25 OB (11) B0 AS), 86N STV () (i
Dod?

Options:

1
—s
3 % V2

4 ® 2\/58

Question Number : 95 Question Id : 8135612975 Display Question Number : Yes Is Question
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At a distance 320 km above the surface of the earth. the value of acceleration due to gravity will
be lower than its value on the surface of the earth by nearly (earths radms= 6400 km )

Ara) &0SVAN Aod 320 km 0" VLGN R A0 E58803D DA T Jewsd
Sol) I8 T Godi TAAW (zr a»lg&gan 6400 km)

Options:
1 % 2 {yﬂ

2. % 6%

. x 14%

Question Number : 96 Question Id : 8135612976 Display Question Number : Yes Is Question

Mandatory : No

0% kg are placed 10*° m apart. The

gravitational potential at the point of zero gravitational field. created by these objects 1s
[G =667 x 107 N.m? kg™

Two objects of masses 4 X 10%® kg and 9 x 1

4% 10% kg 206050 9 X 10% kg G305000 10 Bock 3000 101 m Grdoss
GorsARD. APy ASESe &) Dockad) 38 AowSs THJoS
[G =6.67 x 107 N.m%. kg™*]

Options :
, % 333%10% Jkg™

e 17 =
, o —167x 10" Lkg

3 % 16.67 x10%° TLkg™
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4 x —333X10° Lkg™

Question Number : 97 Question Id : 8135612977 Display Question Number : Yes Is Question
Mandatory : No

A force of 500 kg. wt can break a wire, What 1s the force necessary to break another wire of the

same material and same length but of half the cross-sectional area?

500 kg. wt 00 28 Sk D) A0 Bod. ©d ::mgané‘ &0 0 T A f\e
DFO(R0 D DA% 26'¢ G D) 20 BOHE=S dod WVAN SIT?

Options :

= 200 kg.wt

> 250 kg.wt
3 % 1000 kg.wt

4 % 750 kg.wt

Question Number : 98 Question Id : 8135612978 Display Question Number : Yes Is Question
Mandatory : No

A cylindrical tank has a hole of 1 em? in its bottom. If the water is allowed to flow info the

tank from a tube above it at the rate of 70 em®. s ™. then the maximum height up to which
water can rise in the tank 1s

w8 AP0 £§o8 T O Py’ 1 em’® Gogdw &Y. 70 em’. 57" SYyd
TR 63) w8 TR Aol A EP(o8 §'DE HITFOIEAS BRINEY, V)@ &0

6" A 264 (185 g ods?
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Options :
1 & 2.5cm

2 & 51:'??1
3 » 10cm

4 = 0.25cm

Question Number : 99 Question Id : 8135612979 Display Question Number : Yes Is Question

Mandatory : No

Two rain drops falling through air have radii in the ratio 1 : 2. They will have terminal velocity

m the ratio

) or(o” S0t 9 B0 SGRY Dothdden 1: 2 A8’ a;ga-gm; s0AGd) 2. & 2
ARG w60 S S8R Gotran?

Options:
1 &% 4:1

2.v1:4
3.8 2:1

L

Question Number : 100 Question Id : 8135612980 Display Question Number : Yes Is Question
Mandatory : No
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Heat required to melt 1 g of ice 15 80 cal. A man melts 60 g of ice by chewing in one minute.

His power is

1 g 300t 86168 L3603 &33m 80 cal. 28 A 60 g Do 28 AW
DVELD TrTr SOATC. WS &aa%m dod?

Options :
1 % 4800 W

, v 336 W

5 % L33W

4 % 0.75W

Question Number : 101 Question Id : 8135612981 Display Question Number : Yes Is Question

Mandatory : No

At 50 °C. a brass rod and a steel rod of equal length 50 em each and equal diameters are joined
together. The composite rod 15 heated to 250 °C. Find the change in length of the composite
r0d, [@press =20 X 1078°C™ and agy,q = 12 X 107°°C7Y]

50 cm R0 T B TS ey SIS BEd dako Hew Saw 50 °C
36 e E¢8 sFraw. & D3 $6.30 250 °C S DAY & DI sa A, TekHs”

G0y (e = 20 X 107°%¢™ aid @i, =12 X079
Options:
1 = 0.28 cm
> & 032 cm
3 % 0.30 em
AP EAPCET 2021
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4 % 0.20 em

Question Number : 102 Question Id : 8135612982 Display Question Number : Yes Is Question
Mandatory : No

If system A is i thermal equilibrium with B and B 1s separately in thermal equilibrium with C.

then A and C are in thermal equilibrium. From which thermodynamics law, does this follow?

:’6*""8 A, B8 o fgwm 80w B, C & Dérr ddve ;ﬁ:aes“m &ot) A B0k C e
6 A :3695‘ gotran. 26 &RABS TV 8 DodAAan?
Options:

Zeroth

e %\J"E‘;Snrs

First
. 2068

Second

Third

TP

Question Number : 103 Question Id : 8135612983 Display Question Number : Yes Is Question
Mandatory : No
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By leaving the door of a small standard domestic refrigerator open. it is not possible to cool a
room. because 1t violates the

208 weS’ T Fron DF) Ba006 dS), SuoR)R) 361 &odd, (B Y Likbio e[
). R & AoVABWA) Feod?

Options:

First law of thermodynamics

& ARS T AGL) Do
1.8 @ <

Second law of thermodynamuics

Gaq (DS TR Cokad QAoED
2. v > <

Law of conservation of momentum

L ©9 30 DS5ag Do

Law of conservation of energy
L, 33 QS{SC a0

Question Number : 104 Question Id : 8135612984 Display Question Number : Yes Is Question
Mandatory : No

When the state of a gas 15 adiabatically changed from an equiltbrium state A to another
equilibrium state B. the amount of work done on the system 1s 35 J. If the gas 1s taken from
state A to B via a process in which the net heat absorbed by the system 1s 12 cal. the net work

done by the system in (1cal = 4.2])

w8 T050) :gﬁgs Sy PSOHY” &)Y mw:ga A &0 'bmg'%@ B3
SrBHY S5 6 284D 2wdo 0 351, SR & (o 1ero0d Ado &o 12 cal vd
& TV ;'38 A 3006 B & S0E o, S0P 26808 2wdo DI (1cal =4.217)
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1@ 1827
5 1547
3 % 12,67

4 % 1687

Question Number : 105 Question Id : 8135612985 Display Question Number : Yes Is Question
Mandatory : No

When one litre of an 1deal gas at 27 °C 1s heated at a constant pressure to a temperature of
297 °C. find 1ts final volume,

206 50 36 a8 Besd escs6) a0 27 °C ool 297 °C & 34 Soswd b, wand &rd
a8, 806 LWIVOATM0 Dod?

Options:
. 1.2 Litre

1. =
> 1.9 Litre

3 % 19 Litre

4 % 2.4Litre

Question Number : 106 Question Id : 8135612986 Display Question Number : Yes Is Question
Mandatory : No
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\ " « 2 . :
The equation of a wave 1s given by y = 10 sin ((4—};) t+ cr). If the displacement at t =0 s 15

5 cm. then the total phase att = 7.5 s 15

248 B0t HEe6t0 v = 10sin ((%)r + a) ™ BGRAR8. t = 05 700 ¢ rdgoto
5cm ©ong, t = 7.5 5 G S0 63

Options:
q2
1.% 3

Question Number : 107 Question Id : 8135612987 Display Question Number : Yes Is Question
Mandatory : No

;35 : . : ; : . 1 :
An infmnitely long thin straight wire has uniform linear charge density of 3 om ! Magnitude

of electric intensity at point 12 cm away 1s (eg = 8.8 X 102 Fm™

1
oo TEQ v 83) D Huxsd D568 G 6D Fogs ~ em ™" % $Dhako) 6.
12 om P68 DAxNS £8 SIS H8ArHA0 Jod? (6, =88 X 107" Fm™)

Options :
| »OEXR10 N.ET

, x 033x 10" N.C™*

AP EAPCET 2021 .
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

3 % 0.75x 10 N.c7?

4 % 0.99x 10" N.CTH

Question Number : 108 Question Id : 8135612988 Display Question Number : Yes Is Question
Mandatory : No

What 1s the electric potential at a distance of 9 em from 3 nC ?

3 nC bmswaam Aded 9 cm AFPGAD 56 :)mﬁé 5‘@5}@6 Doeh?

Options :
1« 300V

, % 270V
3 % 30V

4. % 3V

Question Number : 109 Question Id : 8135612989 Display Question Number : Yes Is Question
Mandatory : No

Points A and B are separated by 3 cm and a uniform electric field 1s acting from A4 to B with £ =

300 N.C™, A charge of 3 uC is taken from B to A. Force acting on the 3 uC charge is

Goth) Dociaehe A 08050 B © o6 &rdiaw 3 em. £ =300 N.C™* & s £ 4
Aot B YL HIBabocsd) 8. 3 uC D80 B odt A § S0 I¢d 6. wond
3 uC 3385009 DABOIN LVSW

Options :
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1 % 3X107*N
-4

, x 2X107*N
—4

4 % 8X107*N

Question Number : 110 Question Id : 8135612990 Display Question Number : Yes Is Question
Mandatory : No

[dentify the correct varation of drift velocity (v,) with electric field strength (E):
g‘;g D050 Bk Dm5e5 28V 206 RV Voo
Options:

’LJVdC(E

Question Number : 111 Question Id : 8135612991 Display Question Number : Yes Is Question
Mandatory : No
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The total mtensity of the earth’s magnetic field at equator is 5 units . What will be its value at
the poles?

z;rmc,’aﬁ [oF)) .‘bg ALY Qos), MG aom&gjoé E8 8385 05 REY. oNd yT°e ag
TR R0 dodd?

Options:

1.¢ 9

> % 4

3 % 3

Question Number : 112 Question Id : 8135612992 Display Question Number : Yes Is Question
Mandatory : No

A coil of area 10m® is placed in a uniform magnetic field of 0.3 Wh.m™2. with its plane
perpendicular to the field. The coil rotates at a uniform rate to complete one revolution in 8s
Find the average emf in the coil during intervals when the coil rotates from (i)o® to 90°,
(i1)90° to 180°. (iii)180° to 270°, (iv)270° to 360°

10m* pFoiw o 8 i 0.3 Wh.m™ 2808 wai¥) 08 808" A dviw £g708
oSV 6:39) 8. 3rf ol I500 B Fdedn SR Bsec & w8 Fondn Jrd
S0, & otar SEHBIR) Y\ od aéaqsaues‘ i’ Arfkw .00,

(i)0° A0od 90°, (ii)90° Mvod 180° (iii)180° Rood 270°, (iv)270° o 360°
Options:

3. 3 -3 -3
1@ B X gt P 2
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w
&®
-

=3 —3 3 3
4. % ZV' ZV' ZV' 2V

Question Number : 113 Question Id : 8135612993 Display Question Number : Yes Is Question
Mandatory : No

Two different coils have self mnductance L, = 8 mH and L, = 2 mH. The current n one coil 1s
mncreased at a constant rate, The current in the second coil is also increased at the same rate, At
a certain nstant of time, power given to both the coils 1s the same. At the time, the current, the
mduced voltage and the energy stored in the first coul are iy, v, and wy respectively.

Corresponding values for the second coil af the same instant are {5, v, and w, respectively.
Then find the value of i

Wi
B0 Db S Srichoty g (Ao OB Ly = BmH 0808w L, = 2 mH. 8
Sricte” DS T BN DALAB. Tockd SAoBS' xS HTrAw A
B0 DbXB00B. 28 B HWADANG' Totd) SRS 28 FT D) BT, ¢
AW 96, DS BN, 0t TGE 208k 206 AMfSOS’ Jex G 98
SR 1y, 1y 000 wy. & ﬁégmoﬁ' Ootiad éﬁmgé‘ 0808 VS HART

w
i, 7, 30808 W,. B\ w—z e Dod?
1
Options:
Wa
— —8
1.% W1
Wo 1

—_—
—_—

2.0 Wy B

AP EAPCET 2021 .
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

it
3. ¥ W1

WZ 1

w1_4

Question Number : 114 Question Id : 8135612994 Display Question Number : Yes Is Question
Mandatory : No

In series LCR AC circuit, the capacitance is changes from C to 4C. For the same resonant
frequency, the inductance should be changed from L fo

LCR 363 5000308 3083y € Aol 4C & 31036, 8 0T ﬁ@;aa»,gaé 20850
L der droed) ?

Options :

| 2
1.« 4

Question Number : 115 Question Id : 8135612995 Display Question Number : Yes Is Question
Mandatory : No

Which radiation among the following has maximum wavelength?

(108 SCorGE 0 SRS SdSorren

£8s
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Options:
Infrared rays
1w DODE SCEF

Ultra violet rays

5 % ©AVVS S S6rren

X-rays
X Soeren

Radio waves

4 oc.oir

AP EAPCET 2021

Question Number : 116 Question Id : 8135612996 Display Question Number : Yes Is Question

Mandatory : No

Planck’s constant has the dimensions of

Fo§ oresiw SO &) Ddven fv T3

Options:
Energy

58

1. %

Mass

5 gé§w%

Frequency
5 % J: 2D

4. v
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Angular momentum

'edab 8 Sidw

Question Number : 117 Question Id : 8135612997 Display Question Number : Yes Is Question
Mandatory : No

The wavelength of radiation emitted when an electron jumps from 5% excited state to 3
excited state of a hydrogen atom is . Given. Planck’s constant = 6.625 X 1073 J.s

TEED DoAraPY’ w8 WFD 53 adad o dod 3 6828 Fand'ds
EPSRDVE, DLt D36t Sbof B0 (08 00840=6.25 X 1074 ].5)

Options:
1‘ % 2.62 A

> % 26.2 A

3 2.62 um

4 % 26.2 mm

Question Number : 118 Question Id : 8135612998 Display Question Number : Yes Is Question
Mandatory : No

Ratio of density of nuclear matter to density of water is at least (Rg =
12X 107" m&my, = m, = 167 x 107 kg)

SogS DY Folde, B FoBder J0c e D GWS), S Dewd

(Ro=12x107" m&my =m, = 1.67 X 107 kg)
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| 2307 X 10™ kg.m™>

, % 2307 x 10" kg.m™>

5 » 23.07 x 10" kg.m™

4 % 23.07 x 10" kg.m™®

Question Number : 119 Question Id : 8135612999 Display Question Number : Yes Is Question
Mandatory : No

Considering the junction diode to be ideal. find the
value of current flowing through AB A 1kQ B

A0SR Pod Card 030, ¢aird wond, AB 4V -6V

PAS0 oG Dederotd 3@525 ood?

Options:
-2
1. & 107 A

, x 1071 A
1073 A

3. %

4 % 04

Question Number : 120 Question Id : 8135613000 Display Question Number : Yes Is Question
Mandatory : No
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In an optical communication system operating at 1200 nm. only 2 % of the source frequency
is available for TV transmission having a bandwidth of 5 MHz. The number of TV channels

that can be transmitted via this system is

1200 nm 3¢ HIBCDD) 2,8 &7 Do ::5;5:36". S50 2 % a8 IRy
2@ 5 MHz 08 dceoy $98% TV T8 wodertnd’ 66, wond oy TV
RSy &) DER0 BoDE0?

Options:
;% 2%x10°
, % 10 x 10°
;3 % 0.1%10°

6
4 1 x10

Chemistry

Section Id : 81356166
Section Number: 4
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response :

Question Number : 121 Question Id : 8135613001 Display Question Number : Yes Is Question

Mandatory : No
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Which of the following species is iso-electronic with Cr?
$od rowd’ Cr & o JUTAET &) 23 A?

Options :

o Fed3t
2. x Co

3 ¢ Mn*

4 % Mn*?

Question Number : 122 Question Id : 8135613002 Display Question Number : Yes Is Question
Mandatory : No

The de-Broglie wavelength (in m) of a sand particle of mass 1 mg. blown by a wind of speed

20 m. s~ is approximately

1 mg &r6a o e By, 20 m. s~ Aaand Do mdS AhodaH wdss. ord & 5P
B0 500 D) heido?

Options:

, u BT

, % 0.3x107%

3 % 33x107%°

4 @ 33%367%

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

Question Number : 123 Question Id : 8135613003 Display Question Number : Yes Is Question

Mandatory : No

The correct order of total number of node of atomic orbitals 1s

DOATED 0 ErE0) 2SI SE © Vo] ANE), ATD S30IW

Options:

Z_JGS}Sd::-f-lf

4 % 0d >4f > 6s

Question Number : 124 Question Id : 8135613004 Display Question Number : Yes Is Question

Mandatory : No

The most electronegative element belongs to

OB(HS 2269 Ddo}swéése‘s () SrPOSAD

Options:
transition elements
DOD0R LorwsTeD

mtrogen family

5 % IS EASE-CILLTAN Y

halogen group

3 SR (1D

AP EAPCET 2021
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Question Number : 125 Question Id : 8135613005 Display Question Number : Yes Is Question

Mandatory : No

The order of kinetic diameter of N>. CO and C;Hy 1s:

N;. CO 208050 CoH, © SIS cosrabderd cins), $305m

Options:
. N > CO > C,Hy

P

« CO > GH, > N,

2
3 JCZH4 = L0 > NZ
.« N2 = CO = GH,

Question Number : 126 Question Id : 8135613006 Display Question Number : Yes Is Question

Mandatory : No
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Identify the correct statement(s) from the following:
1) There are four d-block series.
1) Total d-block elements are 40
i11) Third d-block series starts with Lanthanum & ends with mercury

1v) All the d-block members are metals & found in nature

Sod DIBT 0L DO AN T MWBotioc.

1) TP d-e8 e oY)

1) 203w 40 d-gr§ Jrusted &d) D

iii) S°ES d-gr§ 33 roBdANE FrBoBS00W m“&&‘ £90B0MHA

iv) @) d-gr§ SurosTw &5 e SABokn DT .’oganrr Dot
Options:

(i) & (iii) only

1w (1) & (iii) Sorgdo

(i) & (iv) only
() & (iv) S

(i), (ii) & (iii) only

4 % (1), (i), (iii) & (iv)

Question Number : 127 Question Id : 8135613007 Display Question Number : Yes Is Question
Mandatory : No

How many among CzHg. CO. SO, and N H; has/have zero dipole moment?
CeHg. CO. SO, S0Bo3w NH; 5’ AR BES s $9A &) D A ?

Options :
1. & 0
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Question Number : 128 Question Id : 8135613008 Display Question Number : Yes Is Question
Mandatory : No

Which of the following species contains two lone pairs and fwo bond pairs?
S08 23005 o) 20080 20Len ABOK ok od 2ot SVB VA7

Options:
1. 8 NHS

, % BF3

3 ¢ NHy

4 % PCL

Question Number : 129 Question Id : 8135613009 Display Question Number : Yes Is Question
Mandatory : No

According to “Molecular Orbital theory”. which among the following correctly ranks the given
Nitrogen species with respect fo their bond orders?

e 63876 Eredoedd BBED BHS Ardodd RS WS’ Lol SaTeso
6w ) ddakidasy 86 DA
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Options :

2— —
1w N2 <N, <N,

— 2__

2_ e
s N <N, <N,

— E_
4_;@Nz <N, <N,

Question Number : 130 Question Id : 8135613010 Display Question Number : Yes Is Question
Mandatory : No

At STP. if a mixture of Methane(CH, ) and Argon(Ar) has a density of 1.5 g. L™ then the

mole fraction of methane in the mixture 1s [ Given at. mass of Ar = 40 |

STP 565 Q0BS (CHy). TS (Ar) © Drgidvo Cws), Fodd 15 9. L™ wand. & Dgaeds”
DB G, A7 ZPSw (Ar G308, D6e0 Gd(T3= 40)

Options:
1.v 0.3

Question Number : 131 Question Id : 8135613011 Display Question Number : Yes Is Question
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Which reaction does not represent auto redox or disproportionation?

2o0d r;‘:dsvé“ D8 DI 564 ?

Options:

2. % 2H202 = H?_O "' 02
3 % 2Cut - Cu** + Cu

4.< (NHy), Cr07 = Ny + C1,03 + 4H,0

Question Number : 132 Question Id : 8135613012 Display Question Number : Yes Is Question
Mandatory : No

Calculate normality of the solution obtamed by mixing 100 ml of 0.2 M H,S0, and 200 m! of
0.1 M HCl solutions.

100 ml © 0.2 M H,50, &Bat 200 ml © 0.1 M HCl grdmrosy gendrr D6\é gramiw
), W&%

Options:
1. % 03N

, % 0.4N

3 ¢ 02N

4 % 0.02N
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Question Number : 133 Question Id : 8135613013 Display Question Number : Yes Is Question
Mandatory : No

- ; ; 1 .
What would be the equilibrium temperature of the reaction €O + . 0, — C0,. given that

the enthalpy and entropy changes of this reaction are —285.4 kI mol™" and
—0.94 kI mol™ K ! respectively,

1
€0+ 0, — €0, B8 DogrBy 308030 Dot Sroyew S —285.4 kI mol ™
S0Bafo —0.94 kT mol™ K ™" rr (i 2 B6{& derdd 68 dod!

Options:
1 % 303.6 °C

, x —30.6°C
2 x —303.6°C

4« 30.61°C

Question Number : 134 Question Id : 8135613014 Display Question Number : Yes Is Question
Mandatory : No

Given that a person inhales 640 g of oxygen per day. assuming all the imhaled 0, is utilized 1n
converting sugar (sucrose) to C0, and H,0. Find the amount of heat evolved. [ A ombustion

of sucrose is —5645 kJ. mol ™ ]

w8 58 B 640 g 93120 A DL\EIN. © 0, worr 155, 6(R0EE) B £0, 2000k

H,0 eorr 31818, & H8ad" Mebduaky elte HOArmD (E# awg),
: =3

AH .., =—5645 kl.mol °)

Options:
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, % 9402.57 kI

5 9408.34 kJ

4 % 943521 kJ

Question Number : 135 Question Id : 8135613015 Display Question Number : Yes Is Question
Mandatory : No

For the reaction H, ) + Bry 7 = 2 HBr (4). the concentrations of H,. Br; and HBr at

)
equilibrium are found to be 3.5 X 107 M. 4.7 x 10™° M and 3.3 X 107* M. If the reaction

takes place n a sealed vessel at 600 °C. then find the value of its K,

Hy +Bry & ZHBr (5 ©3 $66° 208N 3¢ H,, Bry 20Ban HBr o rreden
(g) (g) @ Q

SR 3.5 X 1073 M. 47 x 1073 M S0B00 3.3 x 1073 M. 600 °C 56 208 God

FSY" 16[ 2BADYD K, Ded dod?

Options:
1 = 2.00

2 0.66
3 % 450

4. % 1.90

Question Number : 136 Question Id : 8135613016 Display Question Number : Yes Is Question
Mandatory : No
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If the equilibrium constant for the reaction. conducted in a closed vessel. 2 C O[g] + 03[3}

=200, 9 1$ ‘K", then find the equilibrium constant for the reaction 0, 9

w8 0D o rBS" a6 Sod B0 DBriedotsoc. 2 C0gy 02y =2 €03 ) & 565

1
TG AP0 ‘K wond 8 Hdndowd” add €0, +—0, =C(0, PUE
@ 0 @ (8 " 2 “g) (g)
‘b&ﬂ“?g@ i})U‘uSn S0 AVa?

Options :

1
+'§' Oztg} = Cﬂl’{g}'

Question Number : 137 Question Id : 8135613017 Display Question Number : Yes Is Question

Mandatory : No

The hybrid state and oxidation state of two '0" atoms in H,0, are respectively

Hy0, 6" B0 0 263rm0i0 00886 DG 2080k 881860 23 SE3T

Options :
% sp%,—1
3. 50,1
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4 % SP° i+

Question Number : 138 Question Id : 8135613018 Display Question Number : Yes Is Question
Mandatory : No

For alkali metals. which of the following trends 1s incorrect?
o0& BT 0 &GS’ $6¢5° TP DotroHod) DO STAA DA?

Options :

Density = Li < K < Na < Rb < Cs
, % TFo@d— Li<K <Na<Rb<Cs

Tonization enthalpy — Li > Na > K > Rb > Cs
, @056 Dogdy — Li > Na > K > Rb > Cs

Ionic mobility — Li* > Na*>K">Rb" >Cs*

3 v A ¥DARDo — Lit > Na” >K" >Rb" > Cs”

Atomicsize — Li< Na< K < Rb < Cs

4 % DG DBATe — Li< Na< K < Rb <Cs

Question Number : 139 Question Id : 8135613019 Display Question Number : Yes Is Question
Mandatory : No
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Which statements about Boron and its compounds. among the following. are true?
(1)  Boron has high density and good electrical conductivity.,
(if) B isotope metal borides are useful as protective shields in nuclear industry.
(1f) Borax and boric acid are used in the manufacture of glasses.

(1v) Orthoboric acid is toxic and hence not useful in antiseptic solutions,

B0 Bk T ) YU Rotodol) 2 DRarey Jukw?

() &'oS 0is FoEd B Sot) AAEred S8 &) 6

(i) 7B 303 Dab, &% YL © BogiS 60 athiy DOEVS' GLS ST GHTTAFE

(itf) &S0 B0t 6585 LAV M HOIYY” TET D

(iv) et &5°08 escdoidon DigéarBeio TBEAL S0 B INIDE TS’ GO AIED
Options:

(i) & (ii) only

1 x (1) & (ii) Srgd

(ii) & (iv) only
2 R (i) & (iv) Sorgdo

(iii) & (iv) only
o (i) & (iv) Srgo

(ii) & (iii) only

4 o (i) & (iii) 2rgd

Question Number : 140 Question Id : 8135613020 Display Question Number : Yes Is Question
Mandatory : No
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(1) The gas which 1s common in both *water gas” and ‘producer gas’ is

(11) Producer gas consists of a mixture of and gases intheratio 2 ¢ 1.

(i) 06 S B0k JEF(OE THL Bott) ohoty &) G (v TaY
(it) Fergod D & H0B080 TOd0QD 2+ 1 AyyGe” Gocoi

Options:
. () NO : (ii) NO & H,0

, « () NO, : (ii) NO, & Hy0

3 ¢ (1) CO : (1) CO & N,

4 % (1) CO; : (1) CO; & N,

Question Number : 141 Question Id : 8135613021 Display Question Number : Yes Is Question
Mandatory : No

Which of the following species is not involved in the formation of photochemical smog?

S0t RI(WEN 2rSoRS” 570 6 0DD 315 DB\ GHAT R

Options :
Volatile organic compound
Ty TR0 S8 2R FHIW

1. 8
, % NO
2 o SO;

4% 0s
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Question Number : 142 Question Id : 8135613022 Display Question Number : Yes Is Question
Mandatory : No

The ITUPAC name of the following compound is

& S0 QD07 300 (0 mmévam: g, [UPAC 770w
Br
Options:

3- Bromo- 6- ethyl- 6- methyl c¢yclo hexan- 1- one
|y 3-8 6- 896- 6- WPS P TES - 1- 4D

2- Ethyl- 2- methyl- 5- bromo cyclo hexan- 1- one
L 27606 - 2- DPES - 5- 53 2E TED - 1- 8D

2- Methyl- 2- ethyl- 5- bromo cyclo hexan- 1- one
o 2- 0B - 2- HBS - 5- AT 2§ B - 1- 49

5- Bromo- 2- ethyl- 2- methyl cyclo hexan- 1- one

5- 8°20° - 2- 533 - 2- WBS P§ B - 1- 4D
4.9

Question Number : 143 Question Id : 8135613023 Display Question Number : Yes Is Question
Mandatory : No

The TUPAC name of the following compound 1s CH,CH,CHCH,CHCHO
| |

& %), 93w aiog), TUPAC e CI- CH,

Options:
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3- chloro -5- methyl hexanal

_ 3-8'8-5-205 TENTS
1.8~ ® -

2- formyl -4- chloro hexane

5 u & FP)S -4-56 8\

4- chloro -2- methyl hexanal
4- £6-2- DBS ey S
3.v - =

4- chloro -2- formyl hexane

. 4- §6-2-29) 5 8\

Question Number : 144 Question Id : 8135613024 Display Question Number : Yes Is Question
Mandatory : No

The total number of possible four membered ring cis and trans 1somers for the molecular
formula C,H,Cl, 15

C H:Cl, esm;')“d)&u*, T 56\ Svobawen o ‘.bé\)é%":)é DR EPy NG 3E
ﬁﬁfg "n)o&),s

Options:

1.% 3

2. v 4

3. %9
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Question Number : 145 Question Id : 8135613025 Display Question Number : Yes Is Question

Mandatory : No

The following reactions are examplesfor (1) and (1)

S0l WO DOedotiot. @) _ (1)  HoBaiw (i) 658 BoddD.

H,C—CH,

(i) | B 5> H,t=CHy + KBr + Hy0
Br Br
i HyC— CH.
() HC=CH ——> | |
Br Br
Options:

(1) Substitution reaction: (1) Addition Reaction
;%W DBEDE BAY: (11) VoSV VO

(1) Elimination reaction: (11) Addition Reaction
5 o (1) &5 DD tﬁd& (11) NSV ::565

(1) Substitution reaction: (11) Elimmation Reaction
% (1) DAEDE LO: (i) D5 DD w5

(1) Elimination reaction; (11) Substitution Reaction

T (i) DS w6y: (i) DOEDE By

Question Number : 146 Question Id : 8135613026 Display Question Number : Yes Is Question

Mandatory : No
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Lithium borohydride crystallizes in an orthorhombic system with 4 molecules per umt cell. If its
edge lengths in the three axesare a = 6.81 A, b=4.43 A and ¢ = 7.17 A. then find the density

AP EAPCET 2021

of the crystal. (At masses: Li = 7. B— 11, H— 1),

QHPES DS 4 BEPY oYy R0 a;agﬁ“ Ddabe O TEs :o;)éésom
BoAIR). ST TV DT TFd) WodTE a = 6.81A. b= 443 A 8o ¢ =7.17A
o, ¢ yB8w aing) rogd Ao, (63rem @dfordoes: Li— 7. B~ 11 H - 1)

Options:

1 = 0.525 g.cm™3

, ¢ 0.676 g.cm™3

;3 % 0.584 g.cm™

4 % 0495 g.om™

Question Number : 147 Question Id : 8135613027 Display Question Number : Yes Is Question

Mandatory : No

When 0.2 g of a solute dissolved i 10 g of solvent. it boils at a temperature 0.75 °C higher
than that of the pure solvent. Then the molecular mass of the solute would be g.mol™*.

(The molal elevation constant for the given solvent 1s 2.21 °C)

10 g @6’ 0.2 g mddo $8A &) 28 o, 06 @} 8ot 0.75 °C e eg‘ga
36 063008, THdo LG g.mol™ (@ drerd erazdd 9

630 2.21°C)

Options :

5 % 589.3
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3. % 0.583

4 % 29.15

Question Number : 148 Question Id : 8135613028 Display Question Number : Yes Is Question
Mandatory : No

(Calculate the number of faradays(F) required to produce 121.525 g of magnesium from

molten MgF,. Atomic mass of magnesium is given as 24.305 g.mol ™.

o MgF, &voc 121.525 g mﬁlbabnm &3\3 BoOLS) SHVY Rl Tal3) R0
O8) o, (fy ake DEJrE @S 24.305 g.mol ™)

Options :
1.v 10F

> % SF
3 % 24 F

Question Number : 149 Question Id : 8135613029 Display Question Number : Yes Is Question
Mandatory : No
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For a certain reaction between X and Y. the order with respect to X 1s 3 and that with respect to
Y 1s 4. If the concentrations of both X and Y are tripled. the rate of reaction will increase by a
factor of

—

X 0ok ¥ & o aidord 36§ 5[ Sedosio X Gy 3 Sobaty 1 i 4. X dndod ¥
TGSV 3 B Dot t6[Gew ™ 6N

Options:

1. % 47

Question Number : 150 Question Id : 8135613030 Display Question Number : Yes Is Question
Mandatory : No

The specific conductance of an aqueous KN 0O, solution at 298 K., for a fixed concentration 1s

0.024 ohm ™. em™. If the resistance of a cell containing this solution at 298 K was found to
be 85 ofum. then find its cell constant.

298 K 56 w8 N6 mGd v KNO; 20rdtne I3 Tarsdio dend 0.024 ohm™.em™.
& Tt GR) ko AIVE), Dﬂ‘c;sasa 85 ohm. &3 208 ng“nSn

Options :

1 ¢ 2.04 em ™t

, % 436 x107* em™!
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3 x 1L.02em™

4 % 218% 1074 em™

Question Number : 151 Question Id : 8135613031 Display Question Number : Yes Is Question
Mandatory : No

Predict which of the following gases show least adsorption on a definite amount of charcoal?
T, (Critical temperature) of gases m K scale 1s as

06 WrHRES TS’ & T050D) Y HOArBD 63) 6 §¢5 » B[Oy

BT QW BrY? T, (dod 6'id) Denden 38D Arded” mdgida.

CO,(T. — 304K)

NH;(T, — 406K)

50,(T, — 430K)
HCU(T, — 324K)

Options:

3 % HCI

co,

Question Number : 152 Question Id : 8135613032 Display Question Number : Yes Is Question
Mandatory : No
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Treatment of PbS, Ag and Hg with Oy gives ., respectively.

PS. Ag oot Hg 0 DADAT 0; & 56; 20Dy Doy G8\T) 00 sarr

Options:

2 ® Pb504, Agzﬂ. ngog
3 % PbO, Agzo. ngo

4¢Pb504, AQEO, ng()

Question Number : 153 Question Id : 8135613033 Display Question Number : Yes Is Question
Mandatory : No

The decreasing order of the boiling points of the Hydrogen halides is correctly represented by:
DEad TOE © sl FT BTN S0

Options:
1 % HI > HBr > HCl > HF

5 ¢ HF > HI > HBr > HCI
3 % HF > HCl > HI > HBr

4 % HCl > HF > HI > HBr

Question Number : 154 Question Id : 8135613034 Display Question Number : Yes Is Question
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Mandatory : No

Pure nitrogen gas 1s prepared i the laboratory by heating a mixture of

Q3Ar) Sedaiod TT, YATATVS HOEG 262 TP SAFDBFE.
Options:

.« NH,0H & NaNH,

, o NH,Cl & NaNo,

, x NHyNO, & KNH,

4 x NHsF & NaNO;

Question Number : 155 Question Id : 8135613035 Display Question Number : Yes Is Question
Mandatory : No

The outer electronic configuration of Chromium (Cr) is

Eaio HEATEDI) ePLFy QUED DT[RBD

Options:

2 ® 3(14 452
3 % Bdﬁ 4‘5’0

4. ® 3(’35 4-.5‘1

Question Number : 156 Question Id : 8135613036 Display Question Number : Yes Is Question
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Mandatory : No

Deficiency of Riboflavin causes the disease

8" TN 68 SO Sehoy TS

Options :
Hemophilia

| x Tarodarr

Rickets
5 % ﬁgés’)

Beriberi
3 % 230830

Cheilosis
4 v SE°DD

Question Number : 157 Question Id : 8135613037 Display Question Number : Yes Is Question
Mandatory : No

Arrange the following compounds in the decreasing order of boiling points:

& dd v T8 A BID T2 Sacse gB020e" BJ6 ol

CH;Br CH;CH,Br CH;CH,CH,Br CH;CH,CH,CH,Br
(i) (ii) (iii) (iv)
Options:

L @ > (i) > (i) > (iv)

o (iv) > (i) = (i) = (1)
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3 % () > i) > (1) > (v)

4 x (i) > (v) > (i) > (i)

Question Number : 158 Question Id : 8135613038 Display Question Number : Yes Is Question
Mandatory : No

Identify the most suitable reagent for the following reaction

Adoc. SO BOINLIS &I HOLILIC) STESHD

0
? -
I B
H H

1 % CrOjz (anhydrous)

Options:

, « NaBH,

3 « Zn —Hg/HCI

Ozonolysis

Question Number : 159 Question Id : 8135613039 Display Question Number : Yes Is Question
Mandatory : No
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The major product of the following reaction sequence is

& 308 BOS" DO DD GBS D) S

OCH S
¥ i) CH4Cl, AlCl3(anhyd.), CS,
ii) HI
i) .
ili) sz/HzO(exCQSS)
Options:
OH
Br
1. ® .
OH
[ [
> % CH4
OH
Br Br
3.V 2
AP EAPCET 2021
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Question Number : 160 Question Id : 8135613040 Display Question Number : Yes Is Question

Mandatory : No

Identify the major product when Anisole s treated with anhydrous Aluminium (IIT) chloride in

the presence of acyl chlonde.

IR £9E didoged’, AT g weribdabo (IIN) E94 w6 28200 wo(s'

2T 680 087

Options :
4-methoxy-acetophenone

| v DTS -IVE DI

2-methoxy-acetophenone

, % 2-0TSy-IDE'DID

3-methoxy-acetophenone

s % 3-0E8-IREDIS

3-methoxy-phenol

 3-Ees\-aJS
4, % N
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